
9.12013−08−05 11708422
Marvin Parts Manual

CHAPTER 9

ULTIMATE DOUBLE HUNG AND SINGLE HUNG MAGNUM,
MAGNUM DOUBLE AND SINGLE HUNG TILT PAC
MAGNUM DOUBLE, SINGLE AND TRIPLE HUNG

MAGNUM HISTORIC DOUBLE, SINGLE AND TRIPLE HUNG

Table of Contents

PAGE
History 9.3. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Part Identification − Wood Ultimate Double Hung Magnum 9.5. . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Part Identification − Wood Ultimate Single Hung Magnum 9.6. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Part Identification − Wood Ultimate Double Hung Magnum Picture 1 5/8� 9.7. . . . . . . . . . . . . . .
Part Identification − Wood Ultimate Double Hung Magnum Picture 2� 9.8. . . . . . . . . . . . . . . . . .
Part Identification − Wood Ultimate Double Hung Magnum Transom 9.9. . . . . . . . . . . . . . . . . . . . . .
Part Identification − Clad Ultimate Double Hung Magnum 9.10. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Part Identification − Clad Ultimate Single Hung Magnum 9.11. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Part Identification − Clad Ultimate Double Hung Magnum Picture 2� 9.12. . . . . . . . . . . . . . . . . . .
Part Identification − Clad Ultimate Double Hung Magnum Transom 9.13. . . . . . . . . . . . . . . . . . . . . . .
Parts − Ultimate Double Hung Magnum 9.14. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Balances − Ultimate Double Hung Magnum 9.18. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Jamb Carriers − Ultimate Double Hung Magnum 9.19. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Replacement Wood Parts / Interior − Ultimate Double Hung Magnum 9.20. . . . . . . . . . . . . . . . . . . .
Replacement Aluminum and Vinyl Parts − Ultimate Double Hung Magnum 9.21. . . . . . . . . . . . . . . .
Sash Replacement − Ultimate Double Hung Magnum 9.22. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Weather strip − Ultimate Double Hung Magnum 9.24. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Screens and Screen Parts Full, Half, IZ3 Ultimate Double Hung Magnum 9.25. . . . . . . . . . . . . . . . .
Energy Panels Conversions Ultimate Double Hung Magnum 9.27. . . . . . . . . . . . . . . . . . . . . . . . . . . .
Combination Units Conversions and Parts − Ultimate Double Hung Magnum 9.28. . . . . . . . . . . . . .
Obsolete Parts
Obsolete Parts − Ultimate Double Hung Magnum 9.30. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Magnum Double Hung/Single Hung Tilt Pac
Balances and Liners − Wood and Clad Magnum Tilt Pac 9.32. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Vinyl, Wood and Aluminum Parts − Wood and Clad Magnum Tilt Pac 9.33. . . . . . . . . . . . . . . . . . . . .
Weather Strip − Wood and Clad Magnum Tilt Pac 9.34. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Sash Replacement − Wood and Clad Magnum Tilt Pac 9.35. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Parts − Wood and Clad Magnum Tilt Pac 9.36. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Obsolete Product and Parts
Part Identification − Wood Magnum Double Hung 9.39. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Part Identification − Wood Magnum Single Hung 9.40. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Part Identification − Wood Magnum Triple Hung 9.41. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .



9.22013−08−02 11708422
Marvin Parts Manual

Part Identification − Wood Magnum Simulated Triple Hung 9.42. . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Part Identification − Wood Magnum 1 3/4� and 2 1/2� Picture Unit 9.43. . . . . . . . . . . . . . . . . . . . . . .
Part Identification − Wood Magnum Historic Double Hung 9.44. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Part Identification − Wood Magnum Historic Single Hung 9.45. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Part Identification − Wood Magnum Historic Triple Hung 9.46. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Part Identification − Wood Magnum Historic Simulated Triple Hung 9.47. . . . . . . . . . . . . . . . . . . . . . .
Part Identification − Wood Magnum Historic 1 3/4� Picture Unit 9.48. . . . . . . . . . . . . . . . . . . . . . . . . .
Part Identification − Clad Magnum Double Hung 9.49. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Part Identification − Clad Magnum Single Hung 9.50. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Part Identification − Clad Magnum 1 3/4� and 2� Picture Unit 9.51. . . . . . . . . . . . . . . . . . . . . . . . . . . .
Obsolete Parts − Magnum 9.52. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Obsolete Parts − Magnum Triple Hung 9.56. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Obsolete Balances − Magnum Double Hung and Single Hung 9.58. . . . . . . . . . . . . . . . . . . . . . . . . . .
Obsolete Jamb Liners − Magnum 9.59. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Obsolete Replacement Wood Parts − Wood Magnum 9.60. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Obsolete Replacement Wood and Aluminum Parts − Clad Magnum 9.61. . . . . . . . . . . . . . . . . . . . . .
Obsolete Replacement Wood Parts − Magnum Simulated Triple Hung 9.62. . . . . . . . . . . . . . . . . . . .
Obsolete Sash Replacement − Magnum 9.63. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Obsolete Weather strip − Magnum 9.64. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Obsolete Screens − Wood Magnum 9.65. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Obsolete Screens − Clad Magnum 9.66. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Obsolete Screen Parts − Magnum 9.67. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Obsolete Energy Panels and Parts − Magnum Double, Single and Triple Hung 9.69. . . . . . . . . . . .
Obsolete Interior Energy Panels and Parts − Magnum Historic Double Hung,

Single Hung & Triple Hung 9.70. . . . . . . . . . . . . . . . . . . .
Obsolete Combination Units and Parts − Wood Magnum and Magnum Historic Double Hung 9.72
Panning
Part Identification − Clad Magnum Double Hung Replacement System (Panning) 9.75. . . . . . . . . .
Parts − Magnum Double Hung Replacement System (Panning) 9.77. . . . . . . . . . . . . . . . . . . . . . . . . .
Screen and Screen Parts − Magnum Double Hung Replacement System (Panning) 9.80. . . . . . . .



9.32008−06−02 11708422
Marvin Parts Manual

PRODUCED UNIT TYPE FEATURES OR CHANGES STATUS

1984 Magnum Double Hung Introduced Magnum Double Hung.  Unit features 1 3/4� sash, white
vinyl jamb liners and dual balance system. 

2005

1985 Magnum Double Hung Standard color on vinyl jamb liners changed from white to beige. 2005

Change from crescent style lock to cam style lock. 1993

1985 Magnum Double Hung Tilt
Pac

Introduced Magnum Double Hung Tilt Pac.  Replacement kit contains:
1 3/4� sash, beige vinyl jamb liners, dual balance system and sash
brackets.

Present

1986 Magnum Historical Double
Hung, Single Hung and Tilt
Pac

Introduced Magnum Historical Double Hung, Single Hung and Tilt
Pac.  Unit features historic profile muntin and bars, 1 3/4� sash,
routered finger pulls, dual balance system, white vinyl jamb liners,
white cam lock and (optional) white interior energy panel.

Present

1986 Magnum Single Hung and
Single Hung Tilt Pac

Unit features 1 3/4� sash, dual balance system and beige vinyl jamb
liners.

Present

1989 Clad Magnum Double Hung
and Clad Tilt Pac

Introduced Clad Magnum Double Hung and Clad Magnum Tilt Pac.  Unit
features 1 3/4� sash, beige vinyl jamb liners and dual balance system.
Clad exterior available in bronze, white and pebble gray.

Present

1991 Wood Magnum Simulated
Triple Hung

Introduced Magnum Simulated Triple Hung.  Unit features three 1 3/4�
sash in frame (two fixed and one operating), beige vinyl jamb liners
and dual balance system.

Present

1991 Clad Magnum Replacement
System

Introduced Clad Magnum Replacement system.  Replacement kit
contains: two 1 3/4� sash, beige vinyl jamb liners, dual balance
system and frame panning.

Present

1991 Wood and Clad Magnum
Units

Locks no longer offset on ADL units with center bar.  Munt routered for
keeper.

Present

1992 Wood Magnum Triple Hung Introduced Wood Magnum Triple Hung.  Unit features three 1 3/4� sash
in frame (counter balanced top and bottom sash with stationary center
sash).  Beige vinyl jamb liners.

Present

1992 Wood Magnum Units Simulated divided lite introduced. Present

1993 Wood and Clad Magnum
Double Hung, Single Hung,
Tilt Pac and Wood Magnum
Triple Hung and Simulated
Triple Hung

Sash lock changed to spring loaded sash lock. Present

1993 Clad Magnum Units Simulated divided lite introduced. Present

1993 Clad Magnum Double Hung
and Clad Tilt Pac

Factory applied brick mould casing introduced. Present

1994 Magnum Historical Double
Hung, Single Hung and Tilt
Pac

Interior energy panel surround changed from vinyl to metal.  Energy
panel fastening clip changed from butterfly clip to push/pull panel clip.

Present

2002 Clad Magnum Units 3/02  Stone White becomes a standard color.  Arctic White transitions
to a select color.

Present

2003 Wood Magnum Units, Clad
Magnum Units, Magnum
Historical Double Hung,
Single Hung and Tilt Pac

3/31/03 Satin Taupe (TP) hardware replaces bronze as standard. Present

2005 Wood and Clad Ultimate
Double Hung Magnum

8/1/05 Introduced the Ultimate Double Hung Magnum. The Magnum
Double Hung line retires.

Present

2008 Wood and Clad Ultimate
Double Hung Magnum

6/02/2008 Introduced charcoal colored high transparency screen
mesh (CH HI−TRAN) as an option on all window and door products
(including combinations).

Present

MAGNUM

HISTORY



9.42013−04−29 11708422
Marvin Parts Manual

PRODUCED UNIT TYPE FEATURES OR CHANGES STATUS

2008 Clad Ultimate Double
Hung Magnum

7/28/2008 Mixed grain Douglas fir is now a standard option. Present

2009 All 3/23/2009 Added LoĒ3-366� as a standard option for all products.
Added Cedro Macho as a standard option for all clad products.

Present

2011 All 04/25/2011 Added LoĒ-180� as a standard option for all products.
White painted interior finish option introduced for all products.

Present

2012 WUDHM and CUDHM 

WUDHM and CUDHM 

All

04−30−2012 Introduced a new screen design as standard.

10−29−2012 Interior Square Sticking/Glazing Bead option introduced.

12−17−2012 Introduced Clear interior finish option on all products.

Present

2013 All 04/29/2013 Introduced interior stain options. Stain colors are Wheat,
Honey, Leather, Hazelnut, Cabernet and Espresso.

Present

MAGNUM

HISTORY



9.509/07 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

WOOD ULTIMATE DOUBLE HUNG MAGNUM

NOTE:  Not to scale; specifications subject to change without notice.

1. Top Brick Mould Casing, W1047
2. Top Blind Stop
3. Tilt Latch
4. Parting Stop Weather strip, V945
5. Head Jamb
6. Parting Stop, W8883
7. Screen Frame
8. Screen Mesh
9. Glazing Bead

10. Top Rail
11. Sash Keeper
12. Sash Lock
13. Insulated Glass
14. Bottom Check Rail
15. Top Check Rail
16. Check Rail Weather strip,

V031
17. Bottom Rail
18. Bottom Rail Weather strip,

V147

19. Sill Liner, W8914
20. Subsill, W2134
21. Sill
22. End Plate
23. Locking Blade
24. Extension Spring
25. Side Brick Mould Casing, W1047
26. Jamb
27. Vinyl Jamb Carrier, V1375
28. Jamb Liner, W8880

29. Stile
30. Exterior Jamb Filler (Lower),

W8927
31. Balance Cover
32. Interior Jamb Filler, W8878
33. Frame Weather strip, V1419
34. Jamb Blind Stop
35. Sash Balance Tube
36. Jamb Liner Stop, A1402
37. Exterior Jamb Filler (Upper)
38. Sill Bracket

MID−LEVEL
JAMB DETAIL

1
2

3
4

5

6

10

7

8

9
A

A

12

14

13

15

16

11

17

18 19

21

20

22

23
24

38

26

25

27

28
29

30

9

33

32

31

34

35

36

13

7 8

37

Top Sash Bottom Sash

WOOD ULTIMATE DOUBLE HUNG MAGNUM

PART IDENTIFICATION



9.609/07 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

WOOD ULTIMATE SINGLE HUNG MAGNUM

NOTE:  Not to scale; specifications subject to change without notice.

1. Top Brick Mould Casing,
W1047

2. Top Blind Stop
3. Tilt Latch
4. Parting Stop Weather strip,

V945
5. Head Jamb
6. Parting Stop, W8883
7. Screen Frame
8. Screen Mesh
9. Glazing Bead

10. Top Rail
11. Sash Keeper
12. Sash Lock
13. Insulated Glass
14. Bottom Check Rail
15. Top Check Rail
16. Check Rail Weather strip, V031
17. Bottom Rail
18. Bottom Rail Weather strip,

V147

19. Sill Liner, W8914
20. Subsill, W2134
21. Sill
22. End Plate
23. Locking Blade
24. Extension Spring
25. Side Brick Mould Casing,

W1047
26. Jamb
27. Vinyl Jamb Carrier, V1375
28. Jamb Liner, W8880

29. Stile
30. Single Hung Filler, W9004
31. Balance Cover
32. Bottom Wood Jamb Filler, W8878
33. Frame Weather strip, V1419
34. Jamb Blind Stop
35. Sash Balance Tube
36. Jamb Liner Stop, A1402
37. Sill Bracket
38. 1/2 Screen Foam Liner

1
2

3
4

5

6

10

7

8

9
A

A

12

14

13

15

16

11

17

18 19

21

20

22

23
24

26

25

27

28
29

30

9

33

32

31

34

35

36

13

7 8

37

38

Top Sash Bottom Sash

WOOD ULTIMATE DOUBLE HUNG MAGNUM

PART IDENTIFICATION



9.706/07 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

WOOD ULTIMATE DOUBLE HUNG MAGNUM PICTURE 1 5/8�

1. Top Brick Mould Casing, W1047
2. Top Blind Stop, W2125
3. Exterior Head Jamb Filler, W2175
4. Vinyl Retainer, V130
5. Head Jamb
6. Top Rail Weather strip, V147
7. Interior Stop
8. Top Rail

9. Glazing Bead
10. Insulated Glass
11. Bottom Rail
12. Sill Liner, W8992
13. Bottom Rail Weather strip, V147
14. Sill
15. Subsill, W2134
16. Side Brick Mould Casing, W1047

17. Jamb
18. Jamb Liner, W2143
19. Stile
20. Interior Stop, W7134
21. Sash Weather strip, V147
22. Exterior Blind Stop
23. Exterior Filler, W2177
24. Sill Bracket

1

2 3 6

9

4
5

7

8

10

11

12

1314

15

16

17

18 19

23

10

9

20

4

21

22

24

WOOD ULTIMATE DOUBLE HUNG MAGNUM

PART IDENTIFICATION



9.806/07 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

WOOD ULTIMATE DOUBLE HUNG MAGNUM PICTURE 2�

1. Top Brick Mould Casing, W1047
2. Top Blind Stop, W2125
3. Exterior Head Jamb Filler, W2175
4. Vinyl Retainer, V130
5. Head Jamb
6. Top Rail Weather strip, V147
7. Interior Stop
8. Top Rail

9. Glazing Bead
10. Insulated Glass
11. Bottom Rail
12. Sill Liner, W8992
13. Bottom Rail Weather strip, V147
14. Sill
15. Subsill, W2134
16. Side Brick Mould Casing, W1047

17. Jamb
18. Jamb Liner, W2143
19. Stile
20. Interior Stop, W7134
21. Sash Weather strip, V147
22. Exterior Blind Stop
23. Exterior Filler, W2177
24. Sill Bracket

1

2 3 6

4 5

7

8

9

10

11

12

1314

15

16

17

18 19

23

10

9

20

4

21

22

24

WOOD ULTIMATE DOUBLE HUNG MAGNUM

PART IDENTIFICATION



9.906/07 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

WOOD ULTIMATE DOUBLE HUNG MAGNUM TRANSOM

1. Top Brick Mould Casing, W1047
2. Top Blind Stop, W2125
3. Sash Glazing Bead
4. Foam Backer Rod
5. Head Jamb
6. Head Jamb Stop, W7136
7. Top Rail
8. Insulated Glass

9. Bottom Rail
10. Sash Filler
11. Sill Liner, W2179
12. Bottom Rail Weather strip
13. Subsill, W2134
14. Sill
15. Side Brick Mould Casing, W1047
16. Jamb

17. Interior Jamb Liner, W2127
18. Interior Stop
19. Stile
20. Jamb Filler, W7126
21. Connecting Barb
22. Jamb Weather strip, V031
23. Exterior Blind Stop, W8950
24. Sill Bracket

1

4

2

3

5

6

7

8

9
10

1112

13

1424

15

16

17

18

19
8

20

21

23
3

22

WOOD ULTIMATE DOUBLE HUNG MAGNUM

PART IDENTIFICATION



9.102012−02−27 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

CLAD ULTIMATE DOUBLE HUNG MAGNUM

1. Head Jamb Cladding
2. Head Jamb Nailing Fin/Drip Cap
3. Head Jamb
4. Parting Stop, W8883
5. Parting Stop Weather strip, V945
6. Screen Frame
7. Top Rail Cladding
8. Sash Cladding Connector, V929
9. Top Rail

10. Screen Mesh
11. Insulating Glass

12. Sash Keeper
13. Sash Lock
14. Bottom Checkrail Cladding

Connector
15. Bottom Checkrail
16. Top Checkrail Cladding

Connector, V929
17. Top Checkrail
18. Top Checkrail Cladding
19. Top Checkrail Weather strip,

V920
20. Bottom Checkrail Cladding
21. Bottom Rail

22. Bottom Rail Cladding
23. Bottom Rail Weather strip, V937
24. Sill Cover
25. Sill Liner, W8860
26. Sill Cladding
27. Sill
28. Sill Nailing Fin
29. End Plate
30. Locking Blade
31. Extension Spring
32. Jamb Cladding
33. Side Jamb Nailing Fin

34. Side Jamb
35. Vinyl Jamb Carrier, V1375
36. Jamb Liner, W8877
37. Wood Wrap Interior Stop
38. Stile
39. Clad Jamb Filler, A1388
40. Stile Cladding
41. Contact Strip, V1500
42. Frame Weather strip, V1419
43. Interior Wood Jamb Filler, W8878
44. Sash Balance Tube
45. Balance Cover
46. Sill Bracket

29

30

31

Top Sash Bottom Sash

45

7

8

9

10

11

12

13

14

15

17 18 19 20

21

22

23 24

25

26

2728

16

46

2
3

1

6

32

33

34

35

36 37 38

39
40

41

42

43

44
45

11

106

CLAD ULTIMATE DOUBLE HUNG MAGNUM

PART IDENTIFICATION



9.112012−02−27 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

CLAD ULTIMATE SINGLE HUNG MAGNUM

1. Head Jamb Cladding
2. Head Jamb Nailing Fin/Drip Cap
3. Head Jamb
4. Parting Stop, W8883
5. Parting Stop Weather strip, V945
6. Screen Frame
7. Top Rail Cladding
8. Sash Cladding Connector, V929
9. Top Rail

10. Screen Mesh
11. Insulating Glass
12. Sash Keeper

13. Sash Lock
14. Bottom Checkrail Cladding

Connector
15. Bottom Checkrail
16. Top Checkrail Cladding Connector,

V929
17. Top Checkrail
18. Top Checkrail Cladding
19. Top Checkrail Weather strip, V920
20. Bottom Checkrail Cladding
21. Bottom Rail
22. Bottom Rail Cladding
23. Bottom Rail Weather strip, V937

24. Sill Cover
25. Sill Liner, W8860
26. Sill Cladding
27. Sill
28. Sill Nailing Fin
29. End Plate
30. Locking Blade
31. Extension Spring
32. Jamb Cladding
33. Side Jamb Nailing Fin
34. Side Jamb
35. Vinyl Jamb Carrier, V1375
36. Jamb Liner, W8877

37. Jamb Liner Stop, A1402
38. Stile
39. Clad SH Jamb Filler, A1413
40. Stile Cladding
41. Contact Strip, V1500
42. Frame Weather Strip, V1419
43. Wood Jamb Filler, W8878
44. Sash Balance Tube
45. Balance Cover
46. Sill Bracket
47. 1/2 Screen Foam Liner

Top Sash Bottom Sash

1

2
3

45

6

7

8

9

10

11

12

13

14

15

17 18 19 20

21

22

23 24

25

26

2728

16

46

47

29

30

31

32

33

34

35

36 37 38

39 40
41

42

43

44
45

11

106

CLAD ULTIMATE DOUBLE HUNG MAGNUM

PART IDENTIFICATION



9.122012−02−27 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

CLAD ULTIMATE DOUBLE HUNG MAGNUM PICTURE 2�

1. Head Jamb Nailing
Fin/Drip Cap

2. Head Jamb
3. Head Jamb Cladding
4. Interior Sash Stop, W3111
5. Connecting Barb
6. Head Jamb Filler Cladding
7. Foam Backer Rod

8. Filler Weather strip, V196
9. Top Rail

10. Vinyl Retainer, V1207
11. Top Rail Cladding
12. Insulating Glass
13. Bottom Rail
14. Bottom Rail Cladding

15. Bottom Rail Weather strip,
V147

16. Sill Cover, V931
17. Sill Liner, W8991
18. Sill Cladding
19. Sill
20. Sill Nailing Fin
21. Sill Bracket

22. Jamb Liner, W2025
23. Jamb
24. Stile
25. Stile Cladding
26. Jamb Filler Cladding
27. Jamb Cladding
28. Jamb Nailing Fin

13

16

14

1518

17

21

19
20

1 7 2 10

5

4

9

12

3 6 8

11

26

23

24

25

22

27
28

10

8
12

5 4

CLAD ULTIMATE DOUBLE HUNG MAGNUM

PART IDENTIFICATION



9.132012−02−27 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

CLAD ULTIMATE DOUBLE HUNG MAGNUM TRANSOM

1. Head Jamb Nailing
Fin/Drip Cap

2. 3/8� Foam Backer Rod
3. Connecting Barb
4. Head Jamb
5. Head Jamb Cladding
6. Top Rail Cladding
7. Head Jamb Part Stop,

W8969

8. Top Rail
9. Insulated Glass

10. Bottom Rail Cladding
11. Sash Cladding Connector
12. Bottom Rail Weather strip,

V937
13. Sill Cladding
14. Sill Nailing Fin
15. Sill Bracket

16. Sill
17. Foam Sill Filler
18. Sill Cover, V931
19. Sill Liner, W8589
20. Sill Filler, W8591
21. Bottom Rail
22. Jamb Cladding
23. Jamb Nailing Fin

24. Jamb
25. Interior Jamb Liner
26. Jamb Filler
27. Stile
28. Stile Cladding
29. Interior Sash Stop, W3111
30. Frame Weather strip, V938

3
4

2

7

5

1

13 12

11

10

17

19

16
14

6

9

15

20

8

21

18



9.142011−02−28 11708422
Marvin Parts Manual

When ordering replacement parts for Ultimate Double Hung and Single Hung Magnum specify:
1. Order number
2. type of unit;
3. part number;
4. description.

ILLUSTRATION
NOT TO SCALE

DESCRIPTION OPER/
COLOR PART NO.

Right HandLeft Hand

Top Sash Pivot Pin

Note: Handing viewed from exterior.
RH
LH

10500562
10500563

Right HandLeft Hand

Bottom Sash Pivot Pin

Note: Handing viewed  from exterior.
RH
LH

10500564
10500565

#7 x 1 1/4� Phillips Flat Head
 Self Tapping Screw for Sash Pivot Pins 11807113

Sash Lock and Keeper, Complete
 Includes:
1 − Sash lock
1 − Keeper
2 − #7 x 7/8� Phillips flat head screws
2 − #7 x 1 1/4� Phillips flat head screws

WH
BZ
TP

11860985
11860986
11860987

Sash Lock
Includes:
1 − Sash lock
2 − #7 x 7/8� Phillips flat head screws

WH−10840019 AB−11800788
BZ−11800779 SC−11800789
TP−11800786 ORBZ−11800794
BS−11800787 SN−11800796

BZ
WH
TP
BS
SC
AB

ORBZ
SN

10500802
10500804
10500806
10500808
10500810
10500814
10500816
10500818

Lock Keeper Kit
For Ultimate Double Hung Magnum
 Includes:
1 − Keeper (10500676)
2 − #7 x 1 1/4� Phillips flat head screws

WH
BZ
TP
BS
AB
SC

ORBZ
SN

11862500
11862501
11862502
11862503
11862504
11862505
11862506
11862507

Custodial Lock
Includes:
1 − Sash lock
1 − Tamper resistant screw
2 − #7 x 7/8� Phillips flat head screws

WH−10840019 BZ−11800779
TP−11800786

WH
BZ
TP

10500711
10500710
10500712

Tool Bit − Tamper Resistant Screw
For Custodial Lock 10500543

ULTIMATE DOUBLE HUNG MAGNUM AND ULTIMATE SINGLE HUNG MAGNUM

PARTS



9.152011−02−28 11708422
Marvin Parts Manual

ILLUSTRATION
NOT TO SCALE

DESCRIPTION COLOR PART NO.

End Plate Assembly
Wood and Clad
 Includes:
1 − Tilt latch assembly
2 − #6x5/8� Phillips flathead wood screws 

11800519

10500600

Mulling Plug
Clad Only
 Includes:
1 − Mulling plug
2 − #8 x 1 1/2� Flat head stainless steel screws

10500537

Clutch Assembly

10500568

Sill Bracket
For Operating Units
 Includes:
1 − Sill bracket
2 − #7 x 3/4� Flat head stainless steel screws

WH
BG

11841102
11841101

Sill Bracket
For Transom and Picture Units
 Includes:
1 − Sill bracket
2 − #7 x 7/8� Flathead stainless steel screws

10500526

Foam Gasket, Header, Jamb Carrier

BG 10500408

Top Sash Stop, Vinyl
V1432, 60� (1524) BG

WH
15354060
15354160

Sash Bumper
V1391 11860430

Top Sash Tilt Latch Assembly, Wood
 Includes:
1 − Tilt latch assembly
1 − #7x1 1/4� Phillips flathead wood screws

BG 10500555

Top Sash Tilt Latch Assembly, Clad
 Includes:
1 − Tilt latch assembly
1 − #7x1 1/4� Phillips pan head wood screws

(11807141)

BG 10500561

ULTIMATE DOUBLE HUNG MAGNUM AND ULTIMATE SINGLE HUNG MAGNUM

PARTS



9.162011−02−28 11708422
Marvin Parts Manual

ILLUSTRATION
NOT TO SCALE

DESCRIPTION OPER./
COLOR PART NO.

Retainer
Ogee Lug

Ogee Lug Kit
(Wood Only)
 Includes:
2 − Ogee Lugs − 10500673
2 − Retainers − 10500672
2 − #7 x 1 1/4� Panhead screws (11807119)

11894145

Top Sash Tilt Latch Assembly, Wood
 Includes:
1 − Tilt latch assembly
1 − #7x1 1/4� Phillips flathead wood screws

BG 10500555

Top Sash Tilt Latch Assembly, Clad
 Includes:
1 − Tilt latch assembly
1 − #7x1 1/4� Phillips pan head wood screws

(11807141)

BG 10500561

Sash Lift
Note: Screws are included with part numbers listed
on right.
1 − Sash lift
2 − #8 x 1� Slotted ovalhead sheet metal screws

Part number listed below are for screws only.
WH−11800887 AB−11800890
BZ−11800888 SC−11800891
TP −11800886 ORBZ−11800893
BS−11800889 SN−11800894

TP
BZ
WH
BS
AB
SC
SN

ORBZ

10500598
10500557
10500556
10500558
10500597
10500596
10500602
10500601

Sill Liner End Plug
LH

(Black)

RH
(Natural)

11867836

11867837

Single Hung Jamb Filler
A1413, 150�

BN
PB
BZ
EG
SW

18628198
18628298
18628398
18628498
18628598

#8 x 1� Screw for Jamb Liner
11800540

T Nut and Screws (package)
 Includes:
4 − T−nuts (05080250)
4 − #8 x 1 1/8� machine screws(11800657)

05570911

ULTIMATE DOUBLE HUNG MAGNUM AND ULTIMATE SINGLE HUNG MAGNUM

PARTS



9.172011−02−28 11708422
Marvin Parts Manual

ILLUSTRATION
NOT TO SCALE

DESCRIPTION COLOR PART NO.

Balance Tube Tensioning Tool 05570910

(b)
(a)

(e)

(h)
(g)

(c)

(f)

(d)

Clad 130� Mull Kit
 Includes:
1 − W8677 Mull Filler, 130� (3302) − 30251199 (a)
2 − Mull Sealant Blocks (b)
22 − #8 x 1 1/2� Flat Head Screws − 11808112 (c)
12 − Masonry Clips for 4 5/8� − 8� jambs (d)
12 − Masonry Clips for 4 9/16� jambs (d)
1 − Interior Mull Trim − 30803399 (e)
1 − Frame Kerf Weather Strip, 260� (6604) length − 

15910100 (f)
1 − A111 1� Space Mull Cover (g)

BN − 18600610 BZ − 18600630
PB − 18600620 EG − 18600640
SW − 18800880

2 − A148 Frame Trim (h)
BN − 15224810 BZ − 15224830
PB − 15224820 EG − 15224840
SW − 18801440

Mulling Instructions − 19970066
Masonry Clip Instructions − 11708266

BN
PB
BZ
EG
SW

11851122
11851123
11851124
11851125
11851126

(a)

(e)

(c)

(d)

(b)

Wood 130� Mull Kit
 Includes:
1 − W8677 Mull Filler, 130� (3302) − 30251199 (a)
2 − Clear 5/4 Flat Casing (b)
22 − #8 x 1 1/2� Flat Head Screws − 11808112 (c)
12 − Masonry Clips for 4 5/8� − 8� jambs (d)
12 − Masonry Clips for 4 9/16� jambs (d)
1 − Interior Mull Trim − 30803399 (e)
Mulling Instructions − 19970066
Masonry Clip Instructions − 11708266

11851127

Window Opening Control Device Kit

 Includes:
2 − Control Devices
2 − Strike Plates
6 − Color Match Screws, #7x7/8� (22)

WH
BZ
BS
SC
PC
AB
TP

ORBZ
SN

11850640
11850641
11850642
11850643
11850644
11850645
11850646
11850647
11850648

ULTIMATE DOUBLE HUNG MAGNUM AND ULTIMATE SINGLE HUNG MAGNUM

PARTS



9.182011−04−25 11708422
Marvin Parts Manual

ULTIMATE DOUBLE HUNG MAGNUM AND ULTIMATE DOUBLE HUNG MAGNUM ROUND TOP

When ordering replacement balance tubes please specify the following information:
1. Provide original order number if available
2. Provide part number*. The part number can be determined from the chart provided

below, which is based on the balance ID code.
NOTE: Information is imprinted on tube. (see illustration)

3. Specify top or bottom sash;
4. Specify quantity.  Do NOT specify as pairs or sets. If one tube is needed, specify:

quantity of 1.  If four tubes are needed, specify a quantity of 4. Part numbers listed
below are for one balance only.

* In some applications, a part number may not be available.  In that case, please provide the ID code.

NOTE: .Balance tube replacement can be a difficult process. Please consult the following service
instructions: Sash Removal and Replacement − UDHM; Balance Tube and Jamb Liner − UDHM

NOTE: The Clutch needs to be ordered separately.
Converting standard travel to full travel balance tubes in the field is not recommended on mulled
assemblies.

Balance Length

B
al

an
ce

 C
al

l L
et

te
r

8� 16� 21� 29� 39� 50�

A 10700108 10700116 10700121 10700129

B 10700208 10700216 10700221 10700229

C 10700308 10700316 10700321 10700329 10700339 10700350

D 10700408 10700416 10700421 10700429 10700439 10700450

E 10700508 10700516 10700521 10700529 10700539 10700550

F 10700608 10700616 10700621 10700629 10700639 10700650

G 10700708 10700716 10700721 10700729 10700739 10700750

H 10700808 10700816 10700821 10700829 10700839 10700850

I 10700908 10700916 10700921 10700929 10700939 10700950

J 10701016 10701021 10701029 10701039 10701050

K 10701121 10701129 10701139 10701150

L 10701221 10701229 10701239 10701250

M 10701321 10701329 10701339 10701350

N 10701421 10701429 10701439 10701450

O 10701521 10701529 10701539 10701550

P 10701621 10701629 10701639 10701650

Q 10701721 10701739 10701750

R 10701821 10701839 10701850

S 10701921 10701939 10701950

T 10702021 10702039 10702050

U 10702121 10702150

V 10702221 10702250

W 10702321 10702350

X 10702421 10702450

ULTIMATE DOUBLE HUNG MAGNUM AND ULTIMATE SINGLE HUNG MAGNUM

BALANCES

Balance
ID code

21 = Balance Length
F = Balance Call Letter

http://www.marvin.com/download.aspx?DocumentID=1306
http://onlinedocs.marvin.com/Manuals/5.1.14%20Balance%20Tube%20and%20Jamb%20Liner,UDHM%20.pdf


9.192013−03−25 11708422
Marvin Parts Manual

ORDERING REPLACEMENT JAMB CARRIERS
When ordering jamb carriers for UDHM units, please provide the following information:

     1.Provide original order number
     2.Specify color (beige or white)
     3.Specify left, right or pair as viewed from the exterior

Replacement vinyl jamb carriers will be cut to fit according to the original order number with holes punched
in the proper locations.

Balance tubes, clad/wood fillers and weather strips are not included with the above. If
needed order:

For Clad Unit:

Top Sash − Clad Jamb filler (A1388)

Lower Jamb Hardware Weather Strip (V1419), Interior Wood Jamb Filler
(W8878)

For Wood Unit:

Top Sash − Exterior Jamb Filler (W8927)

Lower Jamb Hardware Weather Strip (V1419), Interior Wood Jamb Filler
(W8878)

Jamb carrier replacement can be a difficult process. Please consult the following service instructions:
Sash Removal and Replacement − UDHM; Balance Tube and Jamb Liner − UDHM, available at
marvin.com or contact your Marvin representative.

NOTE: Jamb Hardware Assemblies Complete are not available for Ultimate Double Hung Magnum units.
Balances and jamb carriers must be ordered separately.

ULTIMATE DOUBLE HUNG MAGNUM AND ULTIMATE SINGLE HUNG MAGNUM

JAMB CARRIERS

http://www.marvin.com/download.aspx?DocumentID=1306
http://onlinedocs.marvin.com/Manuals/5.1.14%20Balance%20Tube%20and%20Jamb%20Liner,UDHM%20.pdf


W8878

W8914

W2023

W3111

W2059 W8883

W2021

W7134

W8860

W8591

W7122 W7053

W2134 W2139 W8950W7128 W8879W8927

W2175 W2177 W7051

W8991

W9702

1 31/32�
(50)

21/32�
(17)

13/16�
(20)

1 11/32�
(34)

1 1/16�
(27)

1 11/32�
(34)

2 11/32�
(59)

21/32�
(17)

1/2�
(13)

21/32�
(17)

19/32�
(15)

23/32�
(19)

21/32�
(17)

2 9/32�
(58) 4�

(102)

13/32�
(10)

1 31/32�
(50)

1 3/8�
(35)

2 3/32�
(53)

11/16�
(17)

1 25/32�
(45)

1 23/32�
(44)

2�
(51)

9/32�
(7)

2�
(51)

15/32�
(12)

2 3/8�
(60)

13/16�
(20)

2 3/4�
(70)

1 3/16�
(30)

1 3/16�
(30)

1 3/32�
(28)

21/32�
(17)

1 9/16�
(39)

1 15/16�
(49)

1 3/8�
(35) 15/16�

(24)

1 23/32�
(44)

23/32�
(18)

1 7/8�
(48)

2 25/32�
(70)

11/16�
(17)

2�
(51)

9/16�
(14)

2 1/8�
(54)

1/2�
(13)

W9004
11/16�

(17)

1 29/32�
(48)

W9009

11/16�
(17)

2 1/4�
(57)

9.202013−08−05 11708422
Marvin Parts Manual

CURRENT REPLACEMENT PARTS FOR
ULTIMATE DOUBLE HUNG MAGNUM

To order replacement parts specify:
1. profile number
2. size of unit
3. length
4. clad color

Replacement Wood Parts
Part Wood Clad

Interior Jamb Filler W8878 W8878

Interior Sash Stop − Transom W2021 W7134

Jamb Block − Picture W2023

2� Jamb Extension W2059 W2059

Header Jamb Parting Stop W8883 W8883

Sill Liner W8914 W8860

Sill Liner − Picture W9702 W8991

Interior Sash Stop − Picture W7134 W3111

Sill Filler − Transom W7122 W8591

Header Jamb to Sill Filler −
Horizontal Mullion W7053 W7053

Subsill W2134

Sill Nosing W2139

Jamb Blind Stop W8950

Head Jamb Exterior Filler W7128

Jamb Exterior Filler (Upper) W8879

Jamb Exterior Filler (Lower) W8927

Exterior Head Jamb Filler −
Picture/Transom W2175

Exterior Jamb Filler −
Picture/Transom W2177

Stool (field applied)
72�

144�

W7051
31310721
31310720

W7051
31310721
31310720

Single Hung Filler W9004

Single Limiter W9009 W9009

ULTIMATE DOUBLE HUNG MAGNUM AND ULTIMATE SINGLE HUNG MAGNUM

REPLACEMENT WOOD PARTS / INTERIOR



A183

A194

A1388 A199

A190

A193

A207

A1402 A1387

V130 V803 V1500 V946 V929

A1413

9.212011−04−25 11708422
Marvin Parts Manual

CURRENT REPLACEMENT PARTS FOR ULTIMATE DOUBLE HUNG MAGNUM

Aluminum Replacement Parts
Part Clad (profile #)

Top Sash Check Rail A183

Bottom Rail − Picture and Operator A190

Top Rail, Stile −
Picture, Transom, Operator A193

Check Rail − Operator Bottom A194

Aluminum Jamb Filler − Operator A1388

Jamb Filler − Picture A199

Bottom Rail − Transom A207

Wood Wrap Aluminum Interior Stop A1402

Balance Cover
Specify Top or Bottom, White or Beige A1387

Single Hung Jamb Filler A1413

Vinyl Replacement Parts
Part Clad Wood

Sash Retainer −
Picture and Transom V130 V130

Connecting Barb −
Picture and Transom V803 V803

Contact Strip V1500

Sash Clad Connector V946

Bottom Sash Check Rail
Connector V929

ULTIMATE DOUBLE HUNG MAGNUM AND ULTIMATE SINGLE HUNG MAGNUM

ALUMINUM AND VINYL PARTS



9.222012−10−29 11708422
Marvin Parts Manual

ORDERING REPLACEMENT SASH FOR CLAD ULTIMATE DOUBLE HUNG MAGNUM

When ordering replacement sash specify:
1. sash to replace − top, bottom or pair;
2. size;

a. top or bottom (OM of sash)
b. pair (sash opening − indicate if unequal sash height)

3. glazing;
4. clad color and interior finish;
5. order number.
6. special wood species (if applicable)
7. sticking (see illustration).

a. ovolo
b. square

ORDERING REPLACEMENT PICTURE SASH FOR CLAD ULTIMATE DOUBLE HUNG MAGNUM

When ordering replacement picture sash specify:
1. size (OM of sash);
2. glazing;
3. clad color and interior finish;
4. order number.
5. special wood species.
6. sticking (see illustration).

a. ovolo
b. square

Exterior View
(top sash shown)

OM HEIGHT

OM WIDTH

Sticking Profiles

Ovolo Square

CLAD ULTIMATE DOUBLE HUNG SINGLE HUNG MAGNUM

SASH REPLACEMENT



9.232012−10−29 11708422
Marvin Parts Manual

ORDERING REPLACEMENT SASH FOR WOOD ULTIMATE DOUBLE HUNG MAGNUM

When ordering replacement sash specify:
1. which sash is being replaced − top, bottom or pair;
2. size;

a. top or bottom (OM of sash)
b. pair (sash opening − indicate if unequal sash height)

3. glazing;
4. order number.
5. special wood species (if applicable).
6. sticking (see illustration).

a. ovolo
b. square

ORDERING REPLACEMENT PICTURE SASH FOR WOOD ULTIMATE DOUBLE HUNG MAGNUM

When ordering replacement picture sash specify:
1. size (OM of sash);
2. glazing;
3. order number.
4. special wood species.
5. sticking (see illustration).

a. ovolo
b. square

Exterior View
(top sash shown)

OM HEIGHT

OM WIDTH

Sticking Profiles

Ovolo Square

WOOD ULTIMATE DOUBLE HUNG SINGLE HUNG MAGNUM

SASH REPLACEMENT



9.242011−04−25 11708422
Marvin Parts Manual

ORDERING REPLACEMENT WEATHER STRIP FOR ULTIMATE DOUBLE HUNG AND SINGLE
HUNG MAGNUM

When ordering replacement weather strip specify:
1. quantity;
2. color;
3. part number;
4. description.

ILLUSTRATION (NOT TO SCALE) DESCRIPTION LENGTH PART NUMBER

Frame Weather Strip
V1419

Color: BG
WH

150� (3810)
150� (3810)

15353499
15360499

Top Check Rail Weather Strip,
Clad
V920

Color:  BG 100� (2540) 15350399

Top Check Rail Weather Strip,
Wood − Operator and Transom
V031

Color:  BG Specify length 15351799

Head Jamb Parting Stop
V945

Color:  BG 100� (2540) 15350699

Check Rail Plug and
Pile Weather Strip
 Includes:
1 − Check Rail Pile
1 − Foam Check Rail Plug

Color:  BG
WH

10500420
10500421

Filler Weather Strip −Picture,
Clad only
V196

Color:  Black Specify length 15351599

Picture/Transom Top Rail and
Stile Sash Weather Strip −
Clad only
V1297 Specify length 15351499

Bottom Rail or Frame
Weather Strip, Clad
V937 100� (2540) 15350799

Bottom Rail or Frame
Weather Strip, Wood
V147 150� (3810) 15351699

Frame Weather Strip −
Picture and Transom

Color:  Gray 25� Roll 11406223

ULTIMATE DOUBLE HUNG MAGNUM AND ULTIMATE SINGLE HUNG MAGNUM

WEATHER STRIP



9.252012−02−27 11708422
Marvin Parts Manual

TO ORDER FULL AND HALF SCREENS FOR ULTIMATE MAGNUM  AND IZ3 UNITS

Full screens are standard with aluminum surround and Hi−Transparency fiberglass mesh.  Aluminum
mesh is available as an option in black, charcoal, bright aluminum or bright bronze.  Determine the outside
measurement of the existing screen.  Surrounds are available in all standard and select colors.

When ordering a replacement screen specify:
1. size; − Obtain the OM of the screen, from the exiting unit or determine the size

of the screen by using the conversion charts below.  The daylight opening is the
measurement of the visible glass.

2. surround color;
3. mesh type (if other than standard).

NOTE: All screens feature plunger type mounting system.

FULL AND HALF SCREEN CONVERSIONS FOR ULTIMATE MAGNUM AND IZ3 UNITS

Full Screen Clad Ultimate Magnum

Daylight Opening of one sash (if equal height)
to OM of screen.

Daylight Width + 4 3/8� = OM Width of Screen
Daylight Height x 2 + 8 21/32� = OM Height of
Screen

Full Screen Wood Ultimate Magnum

Daylight Opening of one sash (if equal height)
to OM of screen.

Daylight Width + 4 15/16� = OM Width of Screen
Daylight Height x 2 + 9 1/4� = OM Height of
Screen

Half Screen Wood Ultimate Magnum

Daylight Opening to OM of Half Screen

Daylight Width + 4 15/16� = OM Width of Screen
Daylight Height + 6 1/16� = OM Height of Screen

Half Screen Clad Ultimate Magnum

Daylight Opening to OM of Half Screen

Daylight Width + 4 3/8� = OM Width of Screen
Daylight Height + 5 5/16� = OM Height of Screen

WUDH Magnum IZ3 Full and Half Size

Daylight Opening to OM of Full Screen

Daylight Width + 6 9/16� = OM Width of Screen
Daylight Height x 2 + 10 1/16� = OM Height of
Screen

Daylight Opening to OM of Half Screen

Daylight Width + 6 9/16� = OM Width of Screen
Daylight Height + 6 3/32� = OM Height of Screen

Clad
CUSHM

Wood
WUSHM

Half Screen
Weather SealHalf Screen

Weather Seal

ULTIMATE DOUBLE HUNG SINGLE HUNG MAGNUM AND IZ3 MAGNUM

SCREENS



9.262012−02−27 11708422
Marvin Parts Manual

When ordering replacement parts specify quantity and part number.

ILLUSTRATION
NOT TO SCALE

DESCRIPTION COLOR PART NO.

Plunger and Spring Assembly
UDH, USH
Used 2/2012 to present
Includes:
1 − Plunger bolt  (metal)
1 − Plunger bolt cap (black)
1 − Plunger bolt spring

Black 10500706

Sash Pile Weather Strip
V2173
Specify lineal foot Gray 15607501

1/2 Screen Weather Strip
V2113
Specify lineal foot BG 15361399

Screen Mounting Kit Wood Units
WUDH, WUSH
Includes:
6 − Screen Mounting Receptacles (11867851)
1 − Instruction Sheet

Clear 11851128

Weep Bump Clad Units
CUDH, CUSH

Black 10500095

WOOD ULTIMATE DOUBLE HUNG SINGLE HUNG MAGNUM

SCREEN AND SCREEN PARTS



9.272012−02−27 11708422
Marvin Parts Manual

ORDERING REPLACEMENT ENERGY PANELS FOR
WOOD ULTIMATE DOUBLE HUNG MAGNUM

If you are replacing an existing energy panel, determine the outside measurement of the existing energy
panel.  Find the sizes that correspond to the width and height indicated on the following chart.  Energy panels
are available for Wood Ultimate Double Hung Magnum with bronze, stone white, brown or pebble gray
aluminum surrounds. Replacement parts and turn buttons are available in the Misc Moulding Chapter.

When ordering energy panels specify:

Wood Ultimate Double Hung Magnum
and Single Hung Magnum

Daylight Opening to OM of EP

Daylight Width + 1 1/8� = OM Width of EP
Daylight Height + 1 1/8� = OM Height of
EP

NOTE: OM should not include lip.

1. size;  If there is no existing EP from which to
obtain the OM of the panel, determine the
size of the EP by using the conversion chart
below.  The daylight opening is the measure-
ment of the visible glass.

2. color of surround;

3. glass type.

WOOD ULTIMATE DOUBLE HUNG MAGNUM  AND SINGLE HUNG MAGNUM

ENERGY PANELS



9.282011−04−25 11708422
Marvin Parts Manual

ORDERING REPLACEMENT COMBINATIONS AND/OR INSERTS FOR
CLAD OR WOOD ULTIMATE DOUBLE HUNG MAGNUM

Combination units are composed of two glass panels and a screen insert.  One of the storm panels slides
up for self storage when the screen is in use.

When ordering replacement combinations and/or inserts determine the outside measurement of the
existing items or use the following conversions if none exists.  Use the following charts based on daylight
openings of the primary window sash (clad ultimate double hung sash) to determine combination size and
component sizes.  Aluminum surround on combinations are available in bronze, stone white, brown,
pebble gray and evergreen.  Charcoal aluminum wire screen is standard.  Fiberglass mesh screen is
available as an option.

When ordering replacement combinations specify:
1. size; − Measure the existing unit for OM of the combination or determine the size of the

combination by using the conversion charts below.  The daylight opening is the
measurement of the clad ultimate double hung sash visible glass (provide measurements
of both sash if unequal height).

2. color;
3. mesh type (if other than standard);
4. glass type.

Clad Ultimate Double Hung Magnum Combination Units.

Clad Ultimate Double Hung Magnum

Daylight Opening to OM of
Combination

Daylight Width + 4 1/2� = OM Width of
Combination
Daylight Height x 2+8 23/32� = OM
Height of Combination

Wood Ultimate Double Hung Magnum

Daylight Opening to OM of
Combination

Daylight Width + 4 15/16� = OM Width of
Combination
Daylight Height x 2+9 7/16� = OM Height
of Combination

Wood Ultimate Double Hung Magnum Combination Units.

CLAD AND WOOD ULTIMATE DOUBLE HUNG MAGNUM AND SINGLE HUNG MAGNUM

COMBINATION UNITS



9.292011−10−10 11708422
Marvin Parts Manual

Combination units are composed of two glass panels and a screen insert.  One of the storm panels slides
up for self storage when the screen is in use.

When ordering replacement parts specify part number and quantity.

ILLUSTRATION
NOT TO SCALE

DESCRIPTION COLOR PART NO.

Knob, Bolt and Spring Assembly
Includes:
2 − Aluminum knobs
2 − Combination bolt and spring
assemblies

11900515

Knurl Knob
For bolt and spring assembly
 Includes:
2 − Knobs

Aluminum
SS

11101705
03050111

Bolt
For bolt and spring assembly Aluminum

SS
11101700
03050112

LH RH
Turn Latch
M062
Wood only

LH Mill Finish
RH Mill Finish

11860411
11860311

Hook, Long
 Includes:
1 − Hook
2 − #6x5/16� truss head screws.

Mill
Finish 11040100

Pad, Hook
M601
3/8�x1/2�x1 5/16�

WH 10500201

Strike, Stationary Panel
M600
 Includes:
1 − Strike
2 − #6x5/16� truss head screws

Mill
Finish 11040365

Dual Seal Weather strip, Center
Rail
V116 − 84� (2134)

WH 15828400

 To order  track specify:
1 − profile
2 − OM of combination
3 − left, right, top or bottom
4 − color

Operator Panel Track
V057 Black

White
15222200
15222100

Air Vent
(Clad Only)

BK
WH

11867856
11867857

Installation Screw
(Clad Only)
#8x3/4 Panhead

SW
BN
PB
BZ
EG

02058050
11800836
11800837
11800838
11800839

ULTIMATE DOUBLE HUNG MAGNUM AND SINGLE HUNG MAGNUM

COMBINATION PARTS



9.302011−04−25 11708422
Marvin Parts Manual

ILLUSTRATION
NOT TO SCALE

DESCRIPTION COLOR PART NO.

Sash Lock
 Includes:
1 − Sash lock
2 − #7x7/8� Phillips FH wood screws PC 11800790

PC 10500812

Keeper
 Includes:
1 − Keeper
2 − #7x7/8� Phillips FH wood screws PC 11807128

PC 10500795

Sash Lift
 Includes:
1 − Sash lift
2 −#8 x 1� Slotted OH sheet metal screws PC 11800892

PC 10500595

Clad End Plate Assembly
 Includes:
1 − Pivot Latch End Plate
1 − Multi−Point Locking Blade
1 − Extension Spring

LH
RH

10500688
10500689

Wood End Plate Assembly
 Includes:
1 − Pivot Latch End Plate
1 − Multi−Point Locking Blade
1 − Extension Spring

LH
RH

10500686
10500687

ULTIMATE DOUBLE HUNG MAGNUM AND SINGLE HUNG MAGNUM

OBSOLETE PARTS



9.312013−05−08 11708422
Marvin Parts Manual

When ordering replacement parts specify quantity and part number.

ILLUSTRATION
NOT TO SCALE

DESCRIPTION COLOR PART NO.

Plunger and Spring Assembly
UDHM, UDHMRT, MDH
Used pre 02/2012
Includes:
1 − Plunger bolt  (metal)
1 − Plunger bolt cap (black)
1 − Plunger bolt spring

Black 03070731

ULTIMATE DOUBLE HUNG MAGNUM AND ULTIMATE SINGLE HUNG MAGNUM

OBSOLETE SCREEN PARTS PRE 02/2012



2
5

3
0

2
5

3
0

Dual Balance

System

Balance size

Locking Terminal

Foam Gasket

Sash Stop

Jamb Liner

Foam Plug

Jamb Liner Foam

Dim. A

Bevel

9.322011−04−25 11708422
Marvin Parts Manual

DUAL BALANCE SYSTEMS FOR THE MAGNUM DOUBLE HUNG TILT PAC

Manufacturer numbers are stamped on the balance tube assembly
above the locking terminal.

When ordering a replacement dual balance system, specify the
following:

1. Original order number if available
2. The balance size (see illustration).  Often the two

numbers on the tubes are different.  Always provide
both numbers.  For example: 2530/2530 (both
numbers the same), 5210/3220 (different numbers)

3. The top or bottom sash;
4. The weight of the sash.
5. The quantity of dual balance systems. Do NOT specify

as pairs or sets. If one system is needed, specify:
quantity of 1. If four systems are needed, specify a
quantity of 4.

NOTE: If an energy panel was installed after the original purchase, a heavier balance may be necessary.
NOTE: S−hooks are provided when dual balance systems are ordered.

JAMB LINERS FOR THE MAGNUM DOUBLE AND SINGLE HUNG TILT PAC

Replacement jamb liners include clip mounted vinyl jamb liners,
foam plugs, foam backing, sash stops and foam gaskets.

When ordering replacement jamb liners, specify the following:
1. Original order number if available
2. The type of Magnum Tilt Pac (double hung or single

hung).
3. The length (see dimension A).
4. Specify clip mount.
5. Specify color (white or beige).
6. Provide sill bevel. (Standard bevel is 14�)
7. Specify left, right, or pair (as viewed from exterior).

WOOD AND CLAD MAGNUM TILT PAC

BALANCES AND LINERS



9.332011−04−25 11708422
Marvin Parts Manual

MAGNUM DOUBLE HUNG TILT PAC CLIP MOUNT
ILLUSTRATION
NOT TO SCALE

DESCRIPTION LENGTH PART NUMBER

Jamb Liner
V482

WH
BG

192� (4877)
192� (4877)

16215015
16210997

MAGNUM SINGLE HUNG TILT PAC CLIP MOUNT
ILLUSTRATION
NOT TO SCALE

DESCRIPTION LENGTH PART NUMBER

Jamb Liner
V610
Color:  Beige

120� (3048)
168� (4267)

16215008
16215003

Jamb Liner
V610
Color:  White

120�
168�

16215007
16215002

WOOD REPLACEMENT PARTS − MAGNUM DOUBLE AND SINGLE HUNG TILT PAC

ILLUSTRATION
NOT TO SCALE

DESCRIPTION ILLUSTRATION
NOT TO SCALE

DESCRIPTION

1/2
(13)

1 3/32

(28)

Tilt Pac Parting Stop
W7170

1 3/32
(28)

2 13/32
(61)

Sash Opening Filler
(WMSH)
W7188

31/32
(25)

1 21/32
(42)

Half Screen Nosing
(WMSH)
W7178

1 9/32
(32)

2 13/32
(61)

Stationary Sash Filler
(WMSH)
W7186

ALUMINUM REPLACEMENT PARTS − MAGNUM DOUBLE AND SINGLE HUNG TILT PAC

ILLUSTRATION
NOT TO SCALE

DESCRIPTION ILLUSTRATION
NOT TO SCALE

DESCRIPTION

Sash Opening Filler
(WMSH)
A432

Head & Jamb Filler
A509

Stationary Sash Filler
Cap
A510

WOOD AND CLAD MAGNUM TILT PAC

VINYL, WOOD AND ALUMINUM PARTS



9.342011−04−25 11708422
Marvin Parts Manual

ORDERING REPLACEMENT WEATHER STRIP FOR MAGNUM DOUBLE HUNG UNITS

When ordering replacement weather strip specify:
1. quantity;
2. color;
3. part number;
4. description.

ILLUSTRATION
NOT TO SCALE

DESCRIPTION LENGTH PART NUMBER

Dual Seal Weather strip, Check
Rail
V116
Color:  White

84� (2134) 15828400

Hinged Leaf Weather strip,
Parting Stop
V245
Color:  White

84� (2134) 15818400

Bulb Weather strip, Bottom Rail
V192
Color:  Beige

84� (2134) 15900058

Bulb Weather strip, Center Sash
Stile
V114
Magnum Triple Hung only
Color:  Beige

Specify
length 11107532

Pile Weather strip, Check Rail
M650
5/8� x 1 1/2� x 5/16�
Magnum Triple Hung only
Color:  Beige

15600509

WOOD AND CLAD MAGNUM TILT PAC

WEATHER STRIP



9.352011−04−25 11708422
Marvin Parts Manual

ORDERING REPLACEMENT SASH FOR MAGNUM TILT PAC UNITS

When ordering replacement sash specify:
1. type of unit (wood or clad), (single or double hung)
2. Sash to be replaced − top, bottom, pair;
3. size;

a. top or bottom (call number or OM of sash)
b. set (call number or sash opening)

4. glazing;
5. finish;
6. sill bevel if other than standard 14� (wood Tilt Pac).

WIDTH OM

HEIGHT OM

Exterior View
(top sash shown)

WOOD AND CLAD MAGNUM TILT PAC

SASH REPLACEMENT



9.362012−10−15 11708422
Marvin Parts Manual

When ordering replacement Magnum parts specify type of unit, part number and description.

ILLUSTRATION
NOT TO SCALE

DESCRIPTION COLOR PART NO.

Left Hand Right Hand

Sash Pivot
 Includes:
1 − Sash pivot
2 − #10 x 1� Phillips flathead wood screws

NOTE: Pivot handing is viewed from 
the interior

LH
RH

11870462
11870463

Sash Retainer Plate
 Includes:
1 − Sash retainer plate
3 − #8 x 1� Phillips flathead wood screws

TP
BZ
WH

11870468
11870464
11870500

Sash Lock and Keeper, Complete
 Includes:
1 − Sash lock
1 − Keeper
4 − #7 x 7/8� Phillips flathead wood screws

Screw Package of 200

TP
BZ
WH

TP
BZ
WH

11869399
11869395
11869396

11900925
11900920
11900910

Sash Lock
 Includes:
1 − Sash lock
2 − #7 x 7/8� Phillips flathead wood screws

TP
BZ
WH
BS
AB
PC
SC

ORBZ
SN

10818034
10818033
10840026
05600082
05600084
05600086
05600088
05600090
05600092

Keeper
Usage: 10−15−2012 − Present
 Includes:
1 − Keeper
2 − #7 x 7/8� Phillips flathead wood screws

TP
BZ
WH
BS
AB
PC
SC

ORBZ
SN

10818052
10818051
10818050
10818053
10818054
10818055
10818056
10818057
10818058

Keeper − Pre 10−15−2012
 Includes:
1 − Keeper
2 − #7 x 7/8� Phillips flathead wood screws

TP
BZ
WH
BS

10818035
10818032
10840012
05600083

WOOD AND CLAD MAGNUM TILT PAC

PARTS



9.372012−10−15 11708422
Marvin Parts Manual

ILLUSTRATION
NOT TO SCALE

DESCRIPTION COLOR PART NO.

Historic Sash Lock and Keeper, Complete
 Includes:
1 − Historical sash lock

WH − 10840013
BS − available in package only

1 − Keeper
WH − 10840014
BS − available in package only

4 − #6 x 1� Phillips flathead wood screws

WH
BS

11869383
05600044

Historic Sash Lock
 Includes:
1 − Historical sash lock
2 − #6 x 1� Phillips flathead wood screws

WH 10840013

Keeper, Historic
 Includes:
1 − Keeper
2 − #6 x 1� Phillips flathead wood screws

WH 10840014

Sash Lock, Keyed
 Includes:
1 − Keyed lock
2 − Keys
2 − #6 x 1� Phillips flathead wood screws

TP
BZ
WH

05590634
05590632
05590633

Keeper
For keyed sash lock
 Includes:
1 − Keeper
2 − #6 x 1� Phillips flathead wood screws

TP
BZ
WH

10817047
10817043
10840014

Sash Lift
 Includes:
1 − Sash lift
2 − #8 x 1� Slotted ovalhead screws 

TP − 11800886 WH −11800887
BZ − 11800888 BS − 11800889

TP
BZ
WH
BS

10500598
10500557
10500556
10500558

S−Hook, Short, 1/4� (6) Wide
Need 1 per balance or 4 per sash
Top sash balance

11870727

S−Hook, Long, 1/4� (6) Wide
Need 1 per balance or 4 per sash
Bottom sash balance

11870731

Top Sash Stay
2 per unit
 Includes:
1 − Top sash stay
2 − #8 x 1� Phillips flathead wood screws

Mill
Finish

11100400

Installation Clip, Jamb Liner
M044
1� x 4 1/4� 

11860010

Locking Terminal 11870460

WOOD AND CLAD MAGNUM TILT PAC

PARTS



9.382011−04−25 11708422
Marvin Parts Manual

ILLUSTRATION
NOT TO SCALE

DESCRIPTION COLOR PART NO.

1. length
2. part number
3. color

When ordering specify:

Sash Stop, Vinyl
V458

1 3/4� (44)

13 3/4� (349)

60� (1524) 

WH
BG

WH
BG

WH
BG

11870135
11870134

11870994
11870995

11870998
11870999

Specify length needed Hardware Clip, Vinyl
V611
 Includes:
1 − Clip
2 − #7 x 3/4� Phillips panhead wood screws

WH 16215004

 Specify length needed Jamb Liner, Foam
M004
With PVC edge
9/16� x 1 7/16�

10500014

 Specify length needed Jamb Liner, Foam
With PVC edge
7/16� x 2 3/4� 10500008

Foam Gasket
M0124

WH 11869514

Foam Plug (Chimney Block)
M0129
1 3/8� x 1� x 1�
Located at the bottom of the vinyl jamb liner

WH 10500205

 Specify length needed Sash Limiter, Top Sash
V454 BG

WH
11870997
11870996

Sash Limiter, Bottom Sash
M726
 Includes:
1 − Sash limiter
2 − #6 x 5/8� Phillips flathead wood screws

BG 05070431

Stationary Sash Bracket
 Includes:
1 − Bracket
4 − #7 x 7/8� Phillips flathead wood screws

ZYD 11100300

Fin Seal Pad
 10500223

WOOD AND CLAD MAGNUM TILT PAC

PARTS



9.392011−04−25 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

WOOD MAGNUM DOUBLE HUNG

SASH RETAINER PLATE
GLAZING BEAD

SASH LOCK & KEEPER

TOP BLIND STOP

TOP BRICK MOULD CASING

HEAD JAMB LINER

HEAD JAMB

PARTING STOP

PARTING STOP WEATHERSTOP

TOP RAIL

BOTTOM CHECK RAIL

CHECK RAIL WEATHERSTRIP

BOTTOM RAIL

SILL LINER

BOTTOM RAIL WEATHERSTRIP

SCREEN

TOP CHECK RAIL

SCREEN CROSSBAR

SILL

SCREEN FRAME

TOP

BOTTOM SASH

SASH

SCREEN FRAME

SCREEN

SIDE BLIND STOP

JAMB LINER FOAM

GLAZING BEAD

SIDE BRICK MOULD CASING

JAMB

VINYL JAMB HARDWARE

INSULATING GLASS

STILE JAMB LINER

INSULATING GLASS

WOOD MAGNUM DOUBLE HUNG

OBSOLETE PART IDENTIFICATION



9.402011−04−25 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

WOOD MAGNUM SINGLE HUNG

STATIONARY SASH BRACKET

TOP SASH

BOTTOM SASH
VINYL HARDWARE CLIP

VINYL JAMB HARDWARE

OPERATOR STILE

JAMB LINER FOAM

SASH OPENING FILLER

INSULATING GLASS

SCREEN

SCREEN FRAME

GLAZING BEAD

STATIONARY SASH FILLER

STATIONARY STILE

SIDE BRICK MOULD CASING

JAMB LINER

JAMB

SIDE BLIND STOP

SASH RETAINER PLATE

BOTTOM RAIL WEATHERSTRIP

CHECK RAIL WEATHERSTRIP

TOP CHECK RAIL

SCREEN

BOTTOM RAIL

SILL LINER

HEAD JAMB

HEAD JAMB LINER

TOP BRICK MOULD CASING

PARTING STOP

TOP RAIL

INSULATING GLASS

SASH LOCK & KEEPER

TOP BLIND STOP

GLAZING BEAD

BOTTOM CHECK RAIL
HALF SCREEN NOSING

SCREEN FRAME

SILL

PARTING STOP WEATHERSTRIP

WOOD MAGNUM SINGLE  HUNG

OBSOLETE PART IDENTIFICATION



9.412011−04−25 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

WOOD MAGNUM TRIPLE HUNG

CHECK RAIL WEATHERSTRIP

TOP RAIL

TOP SASH CHECK RAIL

BOTTOM SASH BOTTOM RAIL

SILL LINER

SILL

BOTTOM RAIL WEATHERSTRIP

CENTER SASH BOTTOM CHECK RAIL

CHECK RAIL INTERLOCK

CENTER SASH TOP CHECK RAIL

TOP BLIND STOP

TOP BRICK MOULD 

GLAZING BEAD

INSULATING GLASS

SASH LOCK & KEEPER

BOTTOM SASH CHECK RAIL

HEAD JAMB

HEAD JAMB LINER

PARTING STOP

PARTING STOP WEATHERSTRIP

CASING

TRAVEL LIMITER

JAMB

JAMB FILLER

BOTTOM SASH

TOP SASH

CENTER SASH

VINYL SINGLE TRACK
JAMB LINER

STILE

SASH STOP

STILE SLIDE

JAMB MOUNTING PLATE

PILE WEATHERSTRIP

JAMB LINER
INSULATING GLASS

GLAZING BEAD

VINYL HARDWARE CLIP

JAMB LINER FOAM

CONNECTING BARB

CENTER SASH STILE
WEATHERSTRIP

SIDE BRICK 

SIDE BLIND STOP

MOULD CASING

BLOCK

SCREEN CROSSBAR

SCREEN FRAME

SCREEN

SCREEN
SCREEN FRAME

WOOD MAGNUM TRIPLE HUNG

OBSOLETE PART IDENTIFICATION



9.422011−04−25 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

WOOD MAGNUM SIMULATED TRIPLE HUNG

SCREEN FRAME

SCREEN

INSULATING GLASS

HALF SCREEN NOSING

SASH LOCK & KEEPER

SASH RETAINER PLATE

CENTER SASH BOTTOM 

BOTTOM SASH CHECK RAIL

BOTTOM SASH BOTTOM RAIL

SILL LINER

SILL

BOTTOM RAIL WEATHERSTRIP

CHECK RAIL WEATHERSTRIP

CHECK RAIL WEATHERSTRIP

PARTING STOP WEATHERSTRIP

TOP SASH TOP RAIL

TOP SASH CHECK RAIL

CENTER SASH TOP CHECK RAIL

TOP BRICK 

TOP BLIND STOP

GLAZING BEAD

HEAD JAMB

HEAD JAMB LINER

PARTING STOP

MOULD CASING

CHECK RAIL

TOP SASH

CENTER SASH

BOTTOM SASH

INSULATING GLASS

GLAZING BEAD

STILE

SCREEN BULLNOSE

JAMB PARTING STOP

SIDE BLINDSTOP

SCREEN FRAME

SCREEN

SIDE BRICK 

JAMB

JAMB LINER

VINYL HARDWARE CLIP

JAMB LINER FOAM

VINYL SINGLE TRACK

JAMB FILLER

MOULD CASING

JAMB HARDWARE

WOOD MAGNUM SIMULATED TRIPLE HUNG

OBSOLETE PART IDENTIFICATION



9.432011−04−25 11708422
Marvin Parts Manual

WOOD MAGNUM 2 1/2� PICTURE UNIT

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

WOOD MAGNUM 1 3/4� PICTURE UNIT

WOOD MAGNUM 2 1/2� 
PICTURE UNIT

WOOD MAGNUM 1 3/4� 
PICTURE UNIT

TOP BRICK MOULD CASING

TOP BLIND STOP

QUARTER ROUND STOP

HEAD JAMB
HEAD JAMB LINER

TOP RAIL

BOTTOM RAIL

INSULATING GLASS

SILL LINER

BOTTOM RAIL WEATHERSTRIP

HEAD JAMB FILLER

GLAZING BEAD

SILL

TOP BRICK MOULD CASING

TOP BLIND STOP

QUARTER ROUND STOP

HEAD JAMB
HEAD JAMB LINER

TOP RAIL

BOTTOM RAIL

INSULATING GLASS

SILL LINER

HEAD JAMB FILLER

GLAZING BEAD

SILL

SIDE BRICK MOULD CASING

SIDE BLIND STOP

GLAZING BEAD

INSULATING 

JAMB
JAMB FILLER

QUARTER ROUND STOP

STILE

JAMB LINER

SIDE BRICK MOULD CASING

SIDE BLIND STOP

INSULATING 

GLAZING BEAD JAMB
JAMB FILLER

QUARTER ROUND STOP

STILE

JAMB LINER

GLASS
GLASS

WOOD MAGNUM 1 3/4� AND 2 1/2�  PICTURE UNIT

OBSOLETE PART IDENTIFICATION



9.442011−04−25 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

WOOD MAGNUM HISTORIC DOUBLE HUNG

TOP BLIND STOP

SCREEN FRAME

SCREEN

GLAZING BEAD

TOP CHECK RAIL

SCREEN CROSSBAR

SILL

HEAD JAMB LINER

HEAD JAMB

PARTING STOP

PARTING STOP WEATHERSTRIP

TOP RAIL

INTERIOR ENERGY PANEL

SASH LOCK & KEEPER

BOTTOM CHECK RAIL

CHECK RAIL WEATHERSTRIP

BOTTOM RAIL

SILL LINER

BOTTOM RAIL WEATHERSTRIP

TOP BRICK MOULD CASING

TOP

BOTTOM

SASH

SASH

SINGLE GLAZE

GLAZING BEAD

JAMB LINER FOAM

SCREEN FRAME

SCREEN

SIDE BRICK MOULD CASING

JAMB

INTERIOR ENERGY PANELJAMB LINER

STILE

VINYL JAMB HARDWARE

SIDE BLIND STOP

WOOD MAGNUM HISTORIC DOUBLE HUNG

OBSOLETE PART IDENTIFICATION



9.452011−04−25 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

WOOD MAGNUM HISTORIC SINGLE HUNG

SINGLE GLAZE

TOP BLIND STOP

GLAZING BEAD

TOP CHECK RAIL

SILL

HEAD JAMB LINER

HEAD JAMB

PARTING STOP

PARTING STOP WEATHERSTRIP

TOP RAIL

INTERIOR ENERGY PANEL

SASH LOCK & KEEPER

BOTTOM CHECK RAIL

CHECK RAIL WEATHERSTRIP

BOTTOM RAIL

SILL LINER

BOTTOM RAIL WEATHERSTRIP

TOP BRICK MOULD CASING

HALF SCREEN NOSING

TOP SASH

BOTTOM SASH STATIONARY SASH
BRACKET

SIDE BRICK MOULD CASING

SIDE BLIND STOP

GLAZING BEAD

SINGLE GLAZE

STATIONARY SASH FILLER

JAMB LINER

SCREEN FRAME

VINYL HARDWARE CLIP

JAMB LINER FOAM

SCREEN

SASH OPENING FILLER

STILE

INTERIOR ENERGY PANEL

VINYL JAMB HARDWARE

JAMB

WOOD MAGNUM HISTORIC SINGLE HUNG

OBSOLETE PART IDENTIFICATION



9.462011−04−25 11708422
Marvin Parts Manual

TOP SASH

CENTER SASH

BOTTOM SASH

JAMB

VINYL SINGLE TRACK
JAMB HARDWARE SASH STOP

STILE SLIDE

JAMB FILLER

JAMB MOUNTING PLATE

PILE WEATHERSTRIP BLOCK

JAMB LINER

VINYL HARDWARE CLIP

JAMB LINER FOAM

TRAVEL LIMITER

CONNECTING BARB

CENTER SASH STILE
WEATHERSTRIP

SIDE BRICK MOULD CASING

SIDE BLIND STOP

GLAZING BEAD SCREEN

SCREEN FRAME

INTERIOR ENERGY PANEL

STILE

SINGLE GLAZE

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

WOOD MAGNUM HISTORIC TRIPLE HUNG

SCREEN FRAME

CENTER SASH BOTTOM 

SCREEN

SINGLE GLAZE

TOP SASH CHECK RAIL

INTERIOR ENERGY PANEL

CENTER SASH TOP CHECK RAIL

CHECK RAIL INTERLOCK

SASH LOCK & KEEPER

CHECK RAIL WEATHERSTRIP

BOTTOM RAIL 

BOTTOM SASH CHECK RAIL

BOTTOM SASH BOTTOM 

SILL LINER

SILL

GLAZING BEAD

TOP BLIND STOP

TOP BRICK MOULD CASING

HEAD JAMB LINER

HEAD JAMB

PARTING STOP
PARTING STOP WEATHERSTRIP

TOP SASH TOP RAIL

CHECK RAIL

WEATHERSTRIP

RAIL

SCREEN CROSSBAR

WOOD MAGNUM HISTORIC TRIPLE HUNG

OBSOLETE PART IDENTIFICATION



9.472011−04−25 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

WOOD MAGNUM HISTORIC SIMULATED TRIPLE HUNG

SASH LOCK & KEEPER

CHECK RAIL WEATHERSTRIP

HEAD JAMB

SCREEN FRAME

HALF SCREEN NOSING

CENTER SASH BOTTOM CHECK RAIL

SCREEN

SINGLE GLAZE

TOP SASH CHECK RAIL

INTERIOR ENERGY PANEL

BOTTOM RAIL WEATHERSTRIP

CENTER SASH TOP CHECK RAIL

BOTTOM SASH CHECK RAIL

BOTTOM SASH BOTTOM RAIL

SILL LINER

SILL

GLAZING BEAD

TOP BLIND STOP

TOP BRICK MOULD CASING

HEAD JAMB LINER

PARTING STOP
PARTING STOP WEATHERSTRIP

TOP SASH TOP RAIL

INTERIOR ENERGY PANEL

SCREEN BULLNOSE

JAMB LINER

JAMB LINER FOAM

GLAZING BEAD

STILE

BOTTOM SASH

TOP SASH

CENTER SASH

SIDE BRICK 

JAMB FILLER

JAMB PARTING STOP

SCREEN FRAME

SCREEN

SIDE BLIND STOP

VINYL HARDWARE CLIP

JAMB

SINGLE GLAZE

VINYL SINGLE TRACK
JAMB HARDWARE

MOULD CASING

WOOD MAGNUM HISTORIC SIMULATED TRIPLE HUNG

OBSOLETE PART IDENTIFICATION



9.482011−04−25 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

WOOD MAGNUM HISTORIC 1 3/4� PICTURE UNIT

TOP BRICK MOULD CASING

TOP BLIND STOP

HEAD JAMB

HEAD JAMB LINER

 TOP RAIL

INTERIOR ENERGY PANEL

 BOTTOM RAIL

QUARTER ROUND STOP

SILL LINERSILL

HEAD JAMB FILLER

BOTTOM RAIL WEATHERSTRIP

GLAZING BEAD

SINGLE GLAZE

SIDE BLIND STOP

JAMB

JAMB FILLER

JAMB LINER

QUARTER ROUND STOP

GLAZING BEAD

SINGLE GLAZE

STILE

SIDE BRICK MOULD CASING

WOOD MAGNUM HISTORIC 1 3/4�  PICTURE UNIT

OBSOLETE PART IDENTIFICATION



9.492011−04−25 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

CLAD MAGNUM DOUBLE HUNG

CHECK RAIL WEATHERSTRIP

BOTTOM RAIL WEATHERSTRIP

PILE WEATHERSTRIP

HEAD JAMB LINER

HEAD JAMB
NAILING FIN/DRIP CAP

PARTING STOP

PARTING STOP WEATHERSTRIP

TOP RAIL

SASH LOCK & KEEPER

SASH RETAINER PLATE

BOTTOM CHECK RAIL

TOP CHECK RAIL

BOTTOM RAIL

SILL LINER

VINYL SILL COVER

SILL

SILL NAILING FIN

SILL HORN PLUG

SILL CLADDING

SCREEN FRAME

SCREEN

BOTTOM RAIL CLADDING

VINYL GLAZING BEAD

GLAZING CAP

INSULATING GLASS

TOP CHECK RAIL CLADDING

SCREEN CROSSBAR

TOP RAIL CLADDING

HEAD JAMB CLADDING

VINYL GLAZING
BEAD

PILE WEATHERSTRIP

VINYL JAMB HARDWARE

JAMB NAILING
FIN

JAMB CLADDING

JAMB

JAMB LINER FOAM

GLAZING
CAP

SCREEN FRAME

JAMB LINERSTILE

STILE CLADDING

SCREEN

INSULATING GLASS

TOP SASH

BOTTOM SASH

CLAD MAGNUM DOUBLE HUNG

OBSOLETE PART IDENTIFICATION



9.502011−04−25 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

CLAD MAGNUM SINGLE HUNG

CHECK RAIL WEATHERSTRIP

VINYL GLAZING BEAD

BOTTOM CHECK RAIL CLADDING

SILL HORN PLUG

SILL NAILING FIN

INSULATING GLASS

HEAD JAMB CLADDING

SCREEN FRAME

SCREEN

BOTTOM RAIL CLADDING

NAILING FIN/DRIP CAP

HALF SCREEN NOSING

TOP CHECK RAIL

TOP CHECK RAIL CLADDING

GLAZING CAP

TOP RAIL CLADDING

PILE WEATHERSTRIP

HEAD JAMB LINER

HEAD JAMB

PARTING STOP

TOP RAIL

SASH LOCK & KEEPER

SASH RETAINER PLATE

BOTTOM CHECK RAIL

BOTTOM RAIL

SILL LINER

VINYL SILL COVER

BOTTOM RAIL WEATHERSTRIP

SILL

SILL CLADDING

PARTING STOP WEATHERSTRIP

HEAD JAMB

TOP SASH

BOTTOM SASH

SCREEN FRAME

INSULATING GLASS

STILE

SASH OPENING FILLER

STATIONARY SASH 

STATIONARY SASH 

PILE WEATHERSTRIP

STILE CLADDING

STATIONARY SASH 

GLAZING CAP

VINYL GLAZING BEAD

VINYL SINGLE TRACK
JAMB HARDWARE

JAMB CLADDING

JAMB NAILING FIN

VINYL HARDWARE CLIP

FILLER CAP

FILLER

BRACKETS

JAMB LINER

JAMB LINER FOAM

JAMB

CLAD MAGNUM SINGLE HUNG

OBSOLETE PART IDENTIFICATION



9.512011−04−25 11708422
Marvin Parts Manual

HEAD JAMB
& SILL DETAIL

JAMB
DETAIL

NOTE:  Not to scale; specifications subject to change without notice.

CLAD MAGNUM 2� PICTURE UNIT

CLAD MAGNUM 1 3/4� PICTURE UNIT

CLAD MAGNUM 2� 
PICTURE UNIT

CLAD MAGNUM 1 3/4� 
PICTURE UNIT

BOTTOM RAIL
WEATHERSTRIP

HEAD JAMB FILLER
PILE WEATHERSTRIP

SILL HORN PLUG

HEAD JAMB CLADDING

SILL CLADDING

TOP RAIL CLADDING

VINYL GLAZING BEAD

INSULATING GLASS

GLAZING CAP

BOTTOM RAIL CLADDING

SILL NAILING FIN

HEAD JAMB

HEAD JAMB LINER

QUARTER ROUND STOP

TOP RAIL

BOTTOM RAIL

SILL LINER

VINYL SILL COVER

SILL

NAILING FIN/DRIP CAP
HEAD JAMB

PILE WEATHERSTRIP

JAMB

SASH FILLER

JAMB LINER

NAILING FIN

JAMB CLADDING

GLAZING CAP

VINYL GLAZING

STILE

STILE CLADDING

PILE WEATHERSTRIP

INSULATING 

QUARTER ROUND STOP

JAMB

BOTTOM RAIL
WEATHERSTRIP

SILL CLADDING

HEAD JAMB FILLER

SILL HORN PLUG

PILE WEATHERSTRIPHEAD JAMB CLADDING

TOP RAIL CLADDING

VINYL GLAZING BEAD

INSULATING GLASS

SILL LINER

VINYL SILL COVER

GLAZING CAP

BOTTOM RAIL CLADDING

SILL NAILING FIN

HEAD JAMB

HEAD JAMB LINER

QUARTER ROUND STOP

TOP RAIL

BOTTOM RAIL

SILL

NAILING FIN/DRIP CAP
HEAD JAMB

PILE WEATHERSTRIP

SASH FILLER

JAMB LINER

NAILING FIN

JAMB CLADDING

STILE

STILE CLADDING

PILE WEATHERSTRIP

GLAZING CAP

VINYL GLAZING 

JAMB

BEAD

GLASS

BEAD

QUARTER ROUND STOP

INSULATING 
GLASS

JAMB

CLAD MAGNUM PICTURE UNIT

OBSOLETE PART IDENTIFICATION



9.522011−04−25 11708422
Marvin Parts Manual

When ordering replacement Magnum parts specify:
     1.type of unit;
     2.part number;
     3.description.

ILLUSTRATION
NOT TO SCALE

DESCRIPTION OPER/
COLOR PART NO.

Left Hand Right Hand

Sash Pivot
 Includes:
1 − Sash pivot
2 − #10 x 1� Phillips flathead wood screws

NOTE: Pivot handing is viewed from 
the interior

LH
RH

11870462
11870463

Sash Retainer Plate
 Includes:
1 − Sash retainer plate
3 − #8 x 1� Phillips flathead wood screws

TP
BZ
WH

11870468
11870464
11870500

Sash Lock and Keeper, Complete
 Includes:
1 − Sash lock

TP − 10818034
BZ − 10818033
WH − 10840026

1 − Keeper
TP − 10818035
BZ − 10818032
WH − 10840012

4 − #7 x 7/8� Phillips flathead wood screws

Package of 200

TP
BZ
WH

TP
BZ
WH
BS

11869399
11869395
11869396

11900925
11900920
11900910

NA

Sash Lock
 Includes:
1 − Sash lock
2 − #7 x 7/8� Phillips flathead wood screws

TP
BZ
WH
BS

10818034
10818033
10840026
05600082

Keeper
 Includes:
1 − Keeper
2 − #7 x 7/8� Phillips flathead wood screws

TP
BZ
WH
BS

10818035
10818032
10840012
05600083

Historic Sash Lock and Keeper, Complete
 Includes:
1 − Historical sash lock

WH − 10840013
BS − available in package only

1 − Keeper
WH − 10840014
BS − available in package only

4 − #6 x 1� Phillips flathead wood screws

WH
BS

11869383
05600044

MAGNUM DOUBLE HUNG

OBSOLETE − PARTS



9.532011−04−25 11708422
Marvin Parts Manual

ILLUSTRATION
NOT TO SCALE

DESCRIPTION COLOR PART NO.

Historic Sash Lock
 Includes:
1 − Historical sash lock
2 − #6 x 1� Phillips flathead wood screws

WH 10840013

Keeper, Historic
 Includes:
1 − Keeper
2 − #6 x 1� Phillips flathead wood screws

WH 10840014

Sash Lock, Keyed
 Includes:
1 − Keyed lock
2 − Keys
2 − #6 x 1� Phillips flathead wood screws

TP
BZ
WH

05590634
05590632
05590633

Keeper
For keyed sash lock
 Includes:
1 − Keeper
2 − #6 x 1� Phillips flathead wood screws

TP
BZ
WH

10817047
10817043
10840014

Sash Lift
 Includes:
1 − Sash lift
2 − #8 x 1� Slotted ovalhead screws 

TP − 11800886 WH −11800887
BZ − 11800888 BS − 11800889

TP
BZ
WH
BS

10500598
10500557
10500556
10500558

S−Hook, Short, 1/4� (6) Wide
Need 1 per balance or 4 per sash
Top sash balance

11870727

S−Hook, Long, 1/4� (6) Wide
Need 1 per balance or 4 per sash
Bottom sash balance

11870731

Locking Terminal
11870460

MAGNUM DOUBLE HUNG

OBSOLETE − PARTS



9.542011−04−25 11708422
Marvin Parts Manual

ILLUSTRATION
NOT TO SCALE

DESCRIPTION OPER./
COLOR PART NO.

Sash Stop, Vinyl
V458

When ordering specify:
1. length;
2. part number;
3. color.

1 3/4� (44)

13 3/4� (349)

60� (1524) 

WH
BG

WH
BG

WH
BG

11870135
11870134

11870994
11870995

11870998
11870999

Jamb Liner, Foam
M004
With PVC edge
9/16� x 1 7/16�
Magnum Single Hung and Simulated Triple
Hung

Specify
Length 10500014

Foam Gasket
M0124 WH 11869514

Foam Plug (Chimney Block)
M0129
1 3/8� x 1� x 1�
Located at the bottom of the vinyl jamb liner

WH 10500205

Sash Limiter, Top Sash
V454
Specify length needed

BG
WH

11870997
11870996

Sash Limiter, Bottom Sash
M726
 Includes:
1 − Sash limiter
2 − #6 x 5/8� Phillips flathead wood screws

BG 05070431

Stationary Sash Bracket
 Includes:
1 − Bracket
4 − #7 x 7/8� Phillips flathead wood screws

ZYD 11100300

Fin Seal Pad
 10500223

MAGNUM DOUBLE HUNG

OBSOLETE − PARTS



9.552011−04−25 11708422
Marvin Parts Manual

ILLUSTRATION
NOT TO SCALE

DESCRIPTION OPER./
COLOR PART NO.

Hardware Clip, Vinyl
V611
 Includes:
1 − Clip
2 − #7 x 3/4� Phillips panhead wood screws
Magnum Single Hung, Simulated Triple Hung
and Triple Hung

Specify length needed

WH 16215004

Sill Horn Mulling Plug, Clad
M055
 Includes:
1 − Plug
2 − Screws

Zinc No longer
available

Head Jamb Mulling Tie Bar, Clad
M976
 Includes:
1 − Tie bar
2 − Screws

Mill
Finish 11100900

Sill Plug, Clad
MISC 054
 Includes:
1 − Plug
1 − Screw

CL 11867824

Bullet Catch, Historical BS 01010459

Bullet Catch Receiver, Historical BS 01010457

MAGNUM DOUBLE HUNG

OBSOLETE − PARTS



9.562011−04−25 11708422
Marvin Parts Manual

When ordering replacement Magnum parts specify:
1. type of unit;
2. part number;
3. description.

ILLUSTRATION
NOT TO SCALE

DESCRIPTION OPER./
COLOR PART NO.

Sash Stop, Vinyl
V458

60� (1524) BG
WH

11870999
11870998

Stile Slide
V233

96� (2438) 
120� (3048)

BG

15619997
15619998

Jamb Bolt, Solid Brass
M630
 Includes:
1 − Jamb bolt BS 00143068

Thimble
M629
Jamb bolt receiver

BS Check for
availability

Post, Sash Mount
1/4� x 1 1/4� Hex Socket Machine Screw 02061459

Sash Mount
M606
 Includes:
1 − Sash mount
4 − #6 x 1 1/2� Phillips flathead wood screws

11860023

Jamb Mounting Plate
M093
 Includes:
1 − Jamb mounting plate
2 − #8 x 3/4� Phillips flathead wood screws

Mill
Finish

11860040

Pulley, Steel
M625 02165528

Bracket
M623
Used with Pulley
 Includes:
1 − Bracket
1 − #10 x 3/4� Phillips head machine 

screw (bracket)
1 − #10 x 2� slotted machine screw (pulley)
1 − 7/16� spacer nut (pulley)

02165529

MAGNUM TRIPLE HUNG

OBSOLETE PARTS



9.572011−04−25 11708422
Marvin Parts Manual

ILLUSTRATION
NOT TO SCALE

DESCRIPTION OPER./
COLOR PART NO.

Cable
M628
With female receptacle
Specify daylight opening height of 1 sash

02165526

Cable
M627
With male stud
Specify daylight opening height of 1 sash

02165525

Ball End
M624

02165527

Vinyl Jamb Liner Foam
M632
1 15/32� x 9/16�

Specify
Length 10500030

Sash Lift
 Includes:
1 − Sash lift
2 − #10 x 1� Phillips flathead wood screws 

BZ
WH
BS

10818030
10840015
05600040

Jamb Liner, Foam
With PVC edge
7/16� x 2 3/4�
Magnum Double Hung Tilt Pac

Specify
Length 10500008

MAGNUM TRIPLE HUNG

OBSOLETE PARTS



9.582011−05−31 11708422
Marvin Parts Manual

DUAL BALANCE SYSTEMS FOR THE MAGNUM DOUBLE HUNG AND SINGLE HUNG.

Manufacturer numbers are stamped on the balance tube assembly
above the locking terminal.

When ordering a replacement dual balance system, specify the
following:

1. Original order number if available
2. The balance size (see illustration).  Often the two

numbers on the tubes are different.  Always provide
both numbers.  For example: 2530/2530 (both
numbers the same), 5210/3220 (different numbers)

3. The top or bottom sash;
4. The weight of the sash.
5. The quantity of dual balance systems. Do NOT specify

as pairs or sets. If one system is needed, specify:
quantity of 1. If four systems are needed, specify a
quantity of 4.

NOTE: Contact your Marvin representative for pricing.

BALANCE SIZE

LOCKING TERMINAL

2
5

3
0

2
5

3
0

DUAL BALANCE
SYSTEM

MAGNUM DOUBLE HUNG AND SINGLE HUNG

OBSOLETE BALANCES



9.592011−04−25 11708422
Marvin Parts Manual

ORDERING REPLACEMENT JAMB LINERS
Replacement flange or clip mount jamb liners are
cut to length to fit magnum units and includes foam
plugs (chimney block), foam backing, sash stops
and foam gaskets.

To order specify:
1. type of unit;
2. length (see dimension A, to long side

of bevel) or if lineal is required specify
part number;

3. flange or clip mount;
4. color;
5. sill bevel if other than standard 14�
6. left, right or pair (viewed from exterior).

MAGNUM DOUBLE HUNG FLANGE MOUNT
ILLUSTRATION

NOT TO SCALE
DESCRIPTION LENGTH PART NUMBER

Jamb Liner
V1374
(Replaced V398)

WH
BG

192� (4877)
192� (4877)

16215016
16216996

Foam Gasket

Sash Stop

Jamb Liner

Foam Plug

Jamb Liner Foam

Dim. A

Bevel

MAGNUM DOUBLE HUNG

OBSOLETE JAMB LINERS



W6300 − Head Jamb
Filler for 1 3/4� 

 Picture Unit

W7176 − Top Blind 
Stop

W7082 − Head Jamb 
Parting Stop

W7003 − Quarter 
Round Stop

W6290 − Sill Liner

W6260 − Head Jamb 
Filler for 2 1/2� 

Picture Unit

W6302 − Jamb Filler 
for 1 3/4� Picture Unit

W6262 − Jamb Filler 
for 2 1/2� Picture Unit

W7170 −Tilt Pac
Parting Stop

W6280 − Sill Liner, 
Historic

W6142 − Jamb Liner 
for 1 3/4� & 2� 
Picture Units

W7184 − Side 
Blind Stop

W7192 − Transom
Sill Nosing

W6180 − Top Blind 
Stop for Picture Unit

W6084 − Head 
Jamb Liner

W7182 − Jamb Liner

19/32
(15)

1 3/16
(30)

19/32
(15)

1 3/16
(30)

9/16
(14)

2 1/2
(64)

11/16
(17)9/16

(14)

1 15/16
(49)9/16

(14)

1/2
(13)

2 17/32
(64)

W7172 − Jamb Cover,
Historic Unit

1 13/16
(46)1/2

(13)

2 17/32
(64)

1 3/32
(28)

1 13/16
(46)

1 3/32
(28)

5/8
(16)

2 9/16
(65)

1/2
(13)

1 3/32
(28)

2 1/32
(52)9/16

(14)

1 1/16
(27)9/16

(14)

19/32
(15)

1 7/8
(48)

1 3/32
(28)

1 3/16
(30)

1/2
(13) 1/2

(13)

1 9/32
(32)

2 13/32
(61)

W7186 − Stationary Sash
Filler (WMSH)

1 3/32
(28)

W7188 − Sash Opening
Filler (WMSH)

31/32
(25)

1 21/32
(42)

W7178 − Half
Screen Nosing

(WMSH)

W7174 − Side Blind Stop
for Units with Jamb Cover

2 3/8
(60)

19/32
(15)

2 13/32
(61)

W7424 − Jamb 
Filler (WMTH)

1 3/8
(35)

2 7/8
(73)

15/32
(12)

11/16
(17)

9.602011−04−25 11708422
Marvin Parts Manual

CURRENT REPLACEMENT WOOD PARTS FOR WOOD MAGNUM UNITS

Top Blind Stop W7176

Side Blind Stop W7184

Side Blind Stop for Units with Jamb Cover W7174

Head Jamb Parting Stop W7082

Tilt Pac Parting Stop W7170

Head Jamb Liner W6084

Jamb Liner W7182

Jamb Cover, Historic W7172

Jamb Filler (WMTH) W7424

Sill Liner W6290

Sill Liner, Historic W6280

Half Screen Nosing (WMSH) W7178

Transom Sill Nosing W7192

Sash Opening Filler (WMSH) W7188

Stationary Sash Filler (WMSH) W7186

Picture Units

Top Blind Stop for Picture Unit W6180

Head Jamb Filler for 1 3/4� Picture Unit W6300

Jamb Filler for 1 3/4� Picture Unit W6302

Head Jamb Filler for 2 1/2� Picture Unit W6260

Jamb Filler for 2 1/2� Picture Unit W6262

Jamb Liner for 1 3/4� and 2� Picture Units W6142

Quarter Round Stop W7003

MAGNUM DOUBLE HUNG

OBSOLETE−REPLACEMENT WOOD PARTS/INTERIOR



9.612011−04−25 11708422
Marvin Parts Manual

CURRENT REPLACEMENT WOOD PARTS
FOR CLAD MAGNUM DOUBLE HUNG

Head Jamb Parting Stop W7082

Tilt Pac Parting Stop W7170

Sill Liner W7198

Stationary Sash Filler (CMSH) W7199

Jamb Liner W7182

Picture Units

Head Jamb Liner for 1 3/4� & 2� Picture Units W6142

Quarter Round Stop W7003

TO ORDER REPLACEMENT WOOD PARTS
When ordering replacement wood parts specify:

1. type of unit;
2. profile number;
3. rough opening or lineal length;
4. finish.

CURRENT REPLACEMENT ALUMINUM PARTS 
FOR CLAD MAGNUM DOUBLE HUNG UNITS
Please reference the Aluminum Chapter (located online only)
for select and standard color part numbers.

Stationary Sash Filler Cap A510

Screen Nosing A432

Head & Jamb Filler for 1 3/4� Picture Unit A509

Head & Jamb Filler for 2� Picture Unit (w/1� IG) A508

TO ORDER REPLACEMENT ALUMINUM PARTS
When ordering replacement aluminum parts specify:

1. type of unit;
2. profile number;
3. color;
4. rough opening or lineal length.

CLAD MAGNUM DOUBLE HUNG

OBSOLETE−REPLACEMENT WOOD AND ALUMINUM PARTS

W7198 − Sill Liner

W7082 − Head Jamb 
Parting Stop

W7182 − Jamb 
Liner

1 15/16
(49)9/16

(14)

W6142 − Jamb Liner for
1 3/4� & 2� Picture Units

1 1/16
(27)9/16

(14)

W7199 − Stationary 
Sash Filler (CMSH)

1 11/32
(34)

2 11/32
(60)

A432 − Screen Nosing A509 − Head & Jamb Filler for
1 3/4� Picture Unit

9/16
(14)

2 1/4
(57)

15/32
(12)

11/16
(17)

W7170 −Tilt Pac
Parting Stop

1/2
(13)

1 3/32
(28)

W7003 − Quarter 
Round Stop

1/2
(13) 1/2

(13)

A508 − Head & Jamb Filler
for 2� Picture Unit (w/ 1� IG)

A510 − Stationary Sash
Filler Cap



9.622011−04−25 11708422
Marvin Parts Manual

CURRENT REPLACEMENT WOOD PARTS FOR 
WOOD MAGNUM  SIMULATED TRIPLE HUNG

Top Blind Stop W7176

Side Blind Stop W7184

Head Jamb Parting Stop W7082

Upper Jamb Parting Stop W6083

Sill Liner W6290

Jamb Liner W7182

Jamb Filler W7194

Screen Bullnose W7013

Half Screen Nosing W7196

TO ORDER REPLACEMENT WOOD PARTS
When ordering replacement wood parts specify:

1. type of unit;
2. profile number;
3. rough opening or lineal length;
4. finish.

MAGNUM SIMULATED TRIPLE HUNG

OBSOLETE−REPLACEMENT WOOD PARTS/INTERIOR

W7013 − Screen Bullnose

1/2
(13)

1 3/32
(28)

W7082 − Head Jamb 
Parting Stop

15/32
(12)

11/16
(17)

W7176 − Top Blind Stop

W7184 − Side Blind Stop

W6083 − Upper Jamb 
Parting Stop

W6290 − Sill Liner

W7182 − Jamb Liner

W7194 − Jamb Filler

1 1/4
(32)

1 3/32
(28)

W7196 −Half Screen
Bullnose

1 3/16
(30)

19/32
(15)

1 7/8
(48)

19/32
(15)

17/32
(13)

1 15/16
(49)

9/16
(14)

2 1/2
(64)

5/16
(8)

11/16
(17)

31/32
(25)

4 25/32
(121)



9.632011−04−25 11708422
Marvin Parts Manual

ORDERING REPLACEMENT SASH FOR MAGNUM DOUBLE HUNG UNITS

When ordering replacement sash specify:
1. type of unit
2. which sash is being replaced − top, bottom, center or set;
3. size;

a. top or bottom (call number or OM of sash)
b. set (call number or sash opening, indicate if unequal glass height)

4. glazing;
5. finish;
6. sill bevel if other than standard 14� (wood Tilt Pac).

ORDERING REPLACEMENT PICTURE SASH FOR MAGNUM DOUBLE HUNG UNITS

To order replacement picture sash specify:
1. type of unit
2. size (OM of sash);
3. sash thickness, 1 3/4�, 2� or 2 1/2�;
4. glazing;
5. finish;
6. sill bevel if other than standard 14� (wood only).

WIDTH OM

HEIGHT OM

Exterior View
(top sash shown)

MAGNUM DOUBLE HUNG

OBSOLETE SASH REPLACEMENT



9.642011−04−25 11708422
Marvin Parts Manual

ORDERING REPLACEMENT WEATHER STRIP FOR MAGNUM DOUBLE HUNG UNITS

When ordering replacement weather strip specify:
1. quantity;
2. color;
3. part number;
4. description.

ILLUSTRATION
NOT TO SCALE

DESCRIPTION LENGTH PART NUMBER

Dual Seal Weather strip, Check
Rail
V116
Color:  White

84� (2134) 15828400

Hinged Leaf Weather strip,
Parting Stop
V245
Color:  White

84� (2134) 15818400

Bulb Weather strip, Bottom Rail
V192
Color:  Beige

84� (2134) 15900058

Bulb Weather strip, Center Sash
Stile
V114
Magnum Triple Hung only
Color:  Beige

Specify
length 11107532

Interlock Weather strip, Check
Rail
V117
Magnum Triple Hung only
Color:  Beige

48� (1219)
68� (1727)

15813995
15813996

Pile Weather strip, Check Rail
M650
5/8� x 1 1/2� x 5/16�
Magnum Triple Hung only
Color:  Beige

15600509

Connecting Barb
V803

NOTE:  Color may vary depending
on current stock.

Specify
Length 15812999

MAGNUM DOUBLE HUNG

OBSOLETE WEATHER STRIP



9.655/95 11708422
Marvin Parts Manual

ORDERING REPLACEMENT SCREENS FOR WOOD MAGNUM DOUBLE HUNG UNITS

There are no standard size screens for wood magnum units.  Screens are standard with aluminum
surround and charcoal colored fiberglass 18 x 16 screen mesh.  Aluminum mesh is available as an option
in black, charcoal, bright aluminum or bright bronze.  Determine the outside measurement of the existing
screen.  Surrounds are available in bronze, white, brown and pebble gray.

When ordering replacement screen specify:
1. product and screen type;
2. size;  − If there is no existing screen from which to obtain the OM of the screen,

determine the size of the screen by using the conversion charts below.  The
daylight opening is the measurement of the visible glass.

3. color;
4. mesh type (if other than standard).

FULL SCREEN FOR WOOD MAGNUM DOUBLE HUNG
Conversion Width Height

Daylight opening to OM of aluminum full screen + 7� x 2 + 8 3/4�

HALF SCREEN FOR WOOD MAGNUM SINGLE HUNG
Conversion Width Height

Daylight opening of bottom sash to OM of aluminum 1/2 screen + 7� + 5 1/4�

FULL SCREEN FOR HISTORICAL WOOD MAGNUM DOUBLE HUNG
Conversion Width Height

Daylight opening to OM of aluminum full screen + 6 9/16� x 2 + 8 3/4�

HALF SCREEN FOR HISTORICAL WOOD MAGNUM SINGLE HUNG
Conversion Width Height

Daylight opening of bottom sash to OM of aluminum 1/2 screen + 6 9/16� + 5�

FULL AND 1/3 SCREEN FOR WOOD MAGNUM TRIPLE SASH SINGLE HUNG
Conversion Width Height

Daylight opening to OM of aluminum full screen + 7� x 3 + 11 1/16�

Daylight opening of bottom sash to OM of aluminum 1/3 screen + 4 1/4� + 4 11/16�

FULL SCREEN FOR WOOD MAGNUM TRIPLE HUNG
Conversion Width Height

Daylight opening to OM of aluminum full screen + 7� x 3 + 11 1/16�

FULL SCREEN FOR HISTORICAL WOOD MAGNUM TRIPLE HUNG
Conversion Width Height

Daylight opening to OM of aluminum full screen + 6 9/16� x 3 + 10 15/16�

MAGNUM DOUBLE HUNG

OBSOLETE SCREENS



9.662011−04−25 11708422
Marvin Parts Manual

ORDERING REPLACEMENT SCREENS CLAD MAGNUM DOUBLE HUNG UNITS

Screens are standard with aluminum surround and charcoal colored fiberglass 18 x 16 screen mesh.
Aluminum mesh is available as an option in black, charcoal, bright aluminum or bright bronze.  Determine
the outside measurement of the existing screen.  Surrounds are available in bronze, white, brown and
pebble gray.

When ordering replacement screen specify:
1. product and screen type;
2. size;  − If there is no existing screen from which to obtain the OM of the screen,

determine the size of the screen by using the conversion charts below.  The
daylight opening is the measurement of the visible glass.

3. color;
4. mesh type (if other than standard).

Full Screen Sizes for 
Clad Magnum Double Hung

manufactured 1989 − Present

Daylight Opening to OM of Full Screen

Daylight Width + 7 1/16� = OM Width of Screen
Daylight Height x 2 + 9 1/16� = OM Height of
Screen

NOTE:  Screens feature plunger type mounting
system.

WIDTH HEIGHT

SIZE OM WIDTH SIZE OM HEIGHT
CN 38 38 1/4� CN 70 71 1/16�
CN 42 42 1/4� CN 78 79 1/16�
CN 46 46 1/4� CN 86 87 1/16�
CN 48 48 1/4� CN 94 95 1/16�
CN 50 50 1/4� CN 102 103 1/16�
CN 54 54 1/4� CN 110 111 1/16�

Half Screen Sizes for 
Clad Magnum Single Hung

manufactured 1989 − Present

Daylight Opening to OM of Half Screen

Daylight Width + 7 1/16� = OM Width of Screen
Daylight Height  + 5 7/16� = OM Height of Screen

NOTE:  Screens feature leaf spring and plunger
type mounting system.

NOTE:  There are no standard half screen call
numbers established.  Order by OM of screen
using conversions above.

MAGNUM DOUBLE HUNG

OBSOLETE SCREENS



9.672011−11−15 11708422
Marvin Parts Manual

When ordering replacement parts specify:
1. part number;
2. quantity.

ILLUSTRATION
NOT TO SCALE

DESCRIPTION OPER./COLO
R PART NO.

Plunger and Spring Assembly
M0102
Includes:
1 − Plunger bolt  (metal)
1 − Plunger bolt cap (black)
1 − Plunger bolt spring
Clad Magnum Double and Single Hung

Black 03070731

Screen Mounting Receptacle
M111
Clad Magnum Double and Single Hung
only

White 05070411

Spline, Screen
V129
Specify lineal feet needed

Black NA

Corner Key Screen
M0121 15225301

Screen Surround, Aluminum Profile
A133
Available in 168� (4267) length

SW
BZ
PB
BN
EG

18801100
15231799
15231899
15231699
15231999

Screen Crossbar, Aluminum Profile
A131
Specify OM width of screen

SW
BZ
PB
BN
EG

18801080
15233499
15233399
15233299
15233599

Leaf Spring
M0104 11868835

MAGNUM DOUBLE HUNG

OBSOLETE SCREEN PARTS



9.682011−04−25 11708422
Marvin Parts Manual

ILLUSTRATION
NOT TO SCALE

DESCRIPTION COLOR PART NO.

Screen Hanger Package
 Includes:
2 − Hangers 11860031
2 − Clips 02570321
2 − Ball drive screws 11011005
4 − #6 x 5/8� Phillips flathead wood screws

Magnum wood units only

16010006

Hanger
 Includes:
1 − Hanger
1 − #6 x 5/8� Phillips flathead wood screw
Magnum Wood units only

11860031

Clip
 Includes:
1 − Clip
1 −  #6 x 5/8� Phillips flathead wood screw
Magnum Wood units only

02570321

Ball Drive Screw
Magnum Wood units only 11011005

Loop Latch (Bail Loop)
Magnum Wood units only 11011006

MAGNUM DOUBLE HUNG

OBSOLETE SCREEN PARTS



9.692011−04−25 11708422
Marvin Parts Manual

ORDERING REPLACEMENT ENERGY PANELS FOR MAGNUM UNITS

If you are replacing an existing energy panel, determine the outside measurement of the existing energy
panel.  If there is no existing energy panel from which to obtain the OM of the panel, determine the size
of the energy panel by using the conversion below.  The daylight opening is the measurement of the visible
glass.  Energy panels are available in bronze, white, brown or pebble gray aluminum surround (exterior
panel).

When ordering energy panels specify:
1. type of unit;
2. size;
3. color of surround;
4. glass type.

Magnum Double Hung, Single Hung 
and Triple Hung

Units manufactured 1984 − Present

Daylight Opening to OM of EP

Daylight Width + 1 1/8� = OM Width of EP
Daylight Height + 1 1/8� = OM Height of EP

NOTE: OM should not include lip.

MAGNUM DOUBLE HUNG, SINGLE HUNG AND TRIPLE HUNG ENERGY PANELS PARTS

Exterior energy panels are attached with metal turn buttons.

When ordering energy panel parts specify:
1. quantity;
2. description;
3. part number.

ILLUSTRATION
NOT TO SCALE

DESCRIPTION PART NUMBER

Turn Button with Screw 02580411

MAGNUM DOUBLE HUNG, SINGLE HUNG AND TRIPLE HUNG

OBSOLETE ENERGY PANELS AND PARTS



9.702011−04−25 11708422
Marvin Parts Manual

INTERIOR ENERGY PANELS AND PARTS

ORDERING REPLACEMENT ENERGY PANELS FOR MAGNUM HISTORIC UNITS
If you are replacing an existing energy panel, determine the outside measurement of the existing energy
panel.  If there is no existing energy panel from which to obtain the OM of the panel, determine the size
of the energy panel by using the conversion below.  The daylight opening is the measurement of the visible
glass.  Energy panels are available in a white aluminum surround (interior panel).

When ordering energy panels specify:
1. type of unit;
2. size;
3. glass type.

Magnum Historic Double Hung, Single 
Hung and Triple Hung

Units manufactured 1986 − Present

Daylight Opening to OM of IEP

Daylight Width + 1 11/16� = OM Width of IEP
Daylight Height + 1 3/8� = OM Height of IEP

MAGNUM HISTORIC DOUBLE HUNG, SINGLE HUNG AND TRIPLE HUNG ENERGY PANEL PARTS
Interior energy panels are clip mounted.

When ordering energy panel parts specify:
1. quantity;
2. description
3. part number.

ILLUSTRATION
NOT TO SCALE

DESCRIPTION OPER./COLO
R PART NO.

Push/Pull Clip, Stainless Steel
M755 11100701

Corner Key, Interior Energy Panel
M950 15470016

Weather strip, Interior Energy Panel
M0412
Specify Length

WH 15610097

Interior Energy Panel Surround,
Aluminum Profile
A149
For 1/8� glass and 3/16� glass 
Available in 150� (3810) length
Note:  Must use V235 for 1/8� glass

WH 18600899

Spline, Historical Glazing
V235
For 1/8� glass only
Specify Length

WH 15221211

Interior Energy Panel Surround,
Aluminum Profile
A163
For 3/16� featherweight laminated glass
Available in 150� (3810) length

WH 18600898

MAGNUM HISTORIC DOUBLE HUNG, SINGLE HUNG AND TRIPLE HUNG

OBSOLETE ENERGY PANELS AND PARTS



9.712011−04−25 11708422
Marvin Parts Manual

ENERGY PANEL SURROUNDS

ILLUSTRATION
NOT TO SCALE

DESCRIPTION OPER./
COLOR PART NO.

Energy Panel Surround, Aluminum Profile
A155 Stile and bottom rail
For single strength glass − 3/32� (2.5)
Available in 150� (3810) length

SW
BZ
PB
BN

15246299
15243399
15243299
15243199

Energy Panel Surround, Aluminum Profile
A157 Stile and bottom rail
For double strength glass − 1/8� (3.0)
Available in 150� (3810) length

SW
BZ
PB
BN

15246199
15244299
15244199
15244099

Energy Panel Surround, Aluminum Profile
A156 Top rail
For single strength glass − 3/32� (2.5)
Available in 150� (3810)  length

SW
BZ
PB
BN

15246099
15243799
15243699
15243599

Energy Panel Surround, Aluminum Profile
A158 Top rail
For double strength glass − 1/8� (3.0)
Available in 150� (3810) length

SW
BZ
PB
BN

15246399
15244799
15244699
15244599

Energy Panel Surround, Aluminum Profile
A152
For 3/16� glass 
Available in 150� (3810) length

SW
BZ
PB
BN

15242260
15242250
15242255
15242245

MAGNUM DOUBLE HUNG, SINGLE HUNG AND TRIPLE SASH SINGLE HUNG

OBSOLETE ENERGY PANELS AND PARTS



9.722011−04−25 11708422
Marvin Parts Manual

ORDERING REPLACEMENT COMBINATIONS AND/OR INSERTS

Combination units are composed of two glass panels and a screen insert.  One of the storm panels slides
up for self storage when the screen is in use.

When ordering replacement combinations and/or inserts determine the outside measurement of the
existing items or use the following conversions if none exists (based on daylight openings to determine
combination size and component sizes).  Aluminum surround on combination inserts are available in
bronze, white, brown and pebble gray.  Charcoal colored fiberglass mesh screen is standard.  Aluminum
mesh screen is available as an option.

When ordering replacement combinations specify:
1. size; − If there is no existing combination from which to obtain the OM of the combination,

determine the size of the combination by using the conversions below.  The daylight
opening is the measurement of the visible glass.

2. finish and insert color;
3. mesh type (if other than standard);
4. glass type.

Wood Magnum Double Hung

Daylight Opening to OM of Combination
Daylight Width + 7 1/16� = OM Width of Combination
Daylight Height x 2 + 9 3/32� = OM Height of Combination

Wood Magnum Historic Double Hung

Daylight Opening to OM of Combination
Daylight Width + 6 5/8� = OM Width of Combination
Daylight Height x 2 + 8 23/32� = OM Height of Combination

Combination Insert

OM of Combination to OM of Stationary Insert
OM Width of Combination - 5 1/8� = OM Width of Stationary Insert
OM Height of Combination - 9 3/32� � 2 = OM Height of Stationary Insert

OM of Combination to OM of Operating Insert
OM Width of Combination - 4 1/2� = OM Width of Operating Insert
OM Height of Combination - 3 17/32� � 2  = OM Height of Operating Insert

OM of Combination to OM of Screen Insert
OM Width of Combination - 5 1/8� = OM Width of Screen Insert
OM Height of Combination - 5 7/32� � 2  = OM Height of Screen Insert

NOTE: Insert height conversions apply only to units with equal sash.

Magnum Combination Units

WOOD MAGNUM DOUBLE HUNG AND MAGNUM HISTORIC DOUBLE HUNG

OBSOLETE COMBINATION UNITS



9.732011−04−25 11708422
Marvin Parts Manual

Combination units are composed of two glass panels and a screen insert.  One of the storm panels slides
up for self storage when the screen is in use.

When ordering replacement parts specify:
1. part number;
2. quantity.

ILLUSTRATION
NOT TO SCALE

DESCRIPTION OPER./COLO
R PART NO.

Knob, Bolt and Spring Assembly
Includes:
2 − Aluminum knobs
2 − Combination bolt and spring assemblies

11900521

Knob, Aluminum
For bolt and spring assembly
 Includes:
2 − Aluminum knobs

11101701

Knob, Stainless Steel
For bolt and spring assembly 03050113

Left Hand Right Hand

Turn Latch
M062
Wood Magnum Double Hung

LH
RH

Mill
Finish

11860411
11860311

Hook, Long
 Includes:
1 − Hook
2 − Rivets (01060758)

Mill
Finish 11040100

Pad, Hook
M601
3/8� x 1/2� x1 5/16�

WH 10500201

Strike, Stationary Panel
M600
 Includes:
1 − Strike
2 − Rivets (01060758)

Mill
Finish 11040365

Dual Seal Weather strip, Center Rail
V116
Color: White

84� (2134) 15828400

WOOD MAGNUM DOUBLE HUNG AND MAGNUM HISTORICAL DOUBLE HUNG

OBSOLETE COMBINATION PARTS



9.742011−04−25 11708422
Marvin Parts Manual

ILLUSTRATION
NOT TO SCALE

DESCRIPTION PART NUMBER

AR available by each 11869310

Turn Buttons with SS
Screws
#8 x 3/4� Pkg of 50 Pkg of 8 Pkg of 100

AR

BZ

PB

BN

SW

CL

NA

11869311

11869312

11869313

11869314

11869315

N/A

11869451

11869452

11869453

11869454

11869455

11869316

11869317

11869318

11869319

11869320

11869321

When ordering replacement panel track specify:
1. profile;
2. call number or OM of combination;
3. color;

V057 Black 15222200
V057 White 15222100

4. left, right, top, bottom or complete set.

Operator Panel Track
Vertical and horizontal panels

V057

WOOD MAGNUM DOUBLE HUNG AND MAGNUM HISTORICAL DOUBLE HUNG

OBSOLETE COMBINATION PARTS



9.752013−07−03 11708422
Marvin Parts Manual

Head Jamb
and Sill Detail

Jamb
Detail

NOTE:  Not to scale; specifications subject to change without notice.

Charles Street Clad Magnum Double Hung
Replacement System

1. Head Jamb Panning
2. Head Jamb Bracket
3. Vinyl Head Panning Trim
4. Insulating Glass
5. Check Rail Weather Strip
6. Glazing Cap
7. Screen Crossbar
8. Top Check Rail Cladding
9. Vinyl Glazing Bead

10. Screen
11. Bottom Rail Cladding
12. Screen Frame
13. Sill Panning
14. Parting Stop
15. Parting Stop Weather Strip
16. Top Rail
17. Top Check Rail
18. Sash Lock and Keeper
19. Bottom Check Rail Cladding
20. Bottom Check Rail
21. Bottom Rail
22. Bottom Rail Weather Strip
23. Vinyl Sill Cover
24. Jamb Panning
25. Jamb Bracket
26. Screen Standoff
27. Jamb Receptacle
28. Stile Cladding
29. Stile
30. Pile Weather Strip

CHARLES STREET CLAD MAGNUM DOUBLE HUNG REPLACEMENT SYSTEM

PART IDENTIFICATION



9.762013−07−03 11708422
Marvin Parts Manual

NOTE:  Not to scale; specifications subject to change without notice.

Clad Magnum Double Hung
Replacement System

1. Head Jamb Panning
2. Head Jamb Bracket
3. Vinyl Head Panning Trim
4. Insulating Glass
5. Check Rail Weather Strip
6. Glazing Cap
7. Screen Crossbar
8. Top Check Rail Cladding
9. Vinyl Glazing Bead

10. Screen
11. Bottom Rail Cladding
12. Screen Frame
13. Sill Panning
14. Parting Stop
15. Parting Stop Weather Strip
16. Top Rail
17. Top Check Rail
18. Sash Lock and Keeper
19. Bottom Check Rail Cladding
20. Bottom Check Rail
21. Bottom Rail
22. Bottom Rail Weather Strip
23. Vinyl Sill Cover
24. Jamb Panning
25. Jamb Bracket
26. Screen Standoff
27. Jamb Receptacle
28. Stile Cladding
29. Stile
30. Pile Weather Strip

Head Jamb
and Sill Detail

Jamb
Detail

CLAD MAGNUM DOUBLE HUNG REPLACEMENT SYSTEM

PART IDENTIFICATION



9.772011−04−25 11708422
Marvin Parts Manual

When ordering Magnum Double Hung Replacement System (Panning) parts specify:
     1.part number;
     2.description.

ILLUSTRATION
NOT TO SCALE

DESCRIPTION COLOR PART NO.

Head Panning, #10 Flat
A551

168� (4267)

SW
BZ
PB
EG

18806699
18539160
18539140
18539170

Head Panning, #20 Charles Street
A555

150� (3810)

SW
BZ
PB
EG

18800680
18539474
18539472
18539478

Head Panning Trim, Vinyl
V378

96� (2438)
WH
BG

16068997
16068999

Sill Panning
A552
8� bevel

168� (4267)

SW
BZ
PB
EG

18806799
18539260
18539240
18539270

Jamb Panning, #10 Flat
A550

120� (3048)

SW
BZ
PB
EG

18539080
18539060
18539040
18539070

Jamb Panning, #20 Charles Street
A556

120� (3048)

SW
BZ
PB
EG

18539495
18539485
18539483
18539491

Jamb Expander
A554

168� (4267)

SW
BZ
PB
EG

18806999
18539460
18539440
18539465

Receptacle, Jamb, Vinyl
V376

96� (2438) BG 16217000

Receptacle, Jamb, Vinyl
V376

168� (4267)
WH
BG

16216997
16216999

MAGNUM DOUBLE HUNG REPLACEMENT SYSTEM (PANNING)

PARTS



9.782011−04−25 11708422
Marvin Parts Manual

ILLUSTRATION
NOT TO SCALE

DESCRIPTION COLOR PART NO.

Cover, Hardware Track
A558

168� (4267)

SW
BZ
PB
EG

18800740
18539660
18539640
18539670

Cover, Sill, Vinyl
V377

96� (2438) WH
BG

16071997
16071998

Cover, 6� Mull
A557

160� (4064) BZ 18539560

Cover, 6� Mull
A557

120� (3048)

SW
PB
EG
WH

18539580
18539540
18539570
18539500

Receiver, Mull Cap
V379

144� (3658) 16216998

Mull Filler,  Wood
W7183
11/16� x 4 3/4� 120� 33940999

Head Jamb Filler, Wood
W6400
1/4� x 4�

72� 33904110

Parting Stop
W7170

NA

Template, Panning Installation
M728

 Includes:
1 − Template
1 − Set of Panning instructions

80802292

MAGNUM DOUBLE HUNG REPLACEMENT SYSTEM (PANNING)

PARTS



9.792011−04−25 11708422
Marvin Parts Manual

The following items are prepackaged.

ILLUSTRATION
NOT TO SCALE

DESCRIPTION COLOR PART NO.

Panning Hardware Package, Complete
Package of 6 = for inside opening height of
36� or less. 
Package of 8 = for inside opening height over
36� to 80�.
Package of 10 = for inside opening height
over 80�.

Package of 6
of 8

of 10

Package of 6
of 8

of 10
 Includes:
Jamb mounting bracket 11860005
Head jamb/jamb clip 11860020
Wood shim 80802288
Sash stop

WH 11870135
BG 11870134

Screw package

WH

BG

11894214
11894218
11894222

11894202
11894206
11894210

Head Jamb Bracket Package
40� inside opening width and over
 Includes:
Head jamb bracket 11860006
#8x1/2� Phillips panhead screws
#7x7/8� Phillips  flathead screws

11894140

Trusshead

Panhead

Flathead

Screws, for Package of 6
 Includes:
10 − #6x3/4� Phillips trusshead screws
8 − #8x1/2� Phillips panhead screws
14 − #7x7/8� Phillips flathead screws

11894122

Screws, for Package of 8
 Includes:
12 − #6x3/4� Phillips trusshead screws
10 − #8x1/2� Phillips panhead screws
18 − #7x7/8� Phillips flathead screws

11894128

Screws, for Package of 10
 Includes:
14 − #6x3/4� Phillips trusshead screws
12 − #8x1/2� Phillips panhead screws
22 − #7x7/8� Phillips flathead screws

11894134

MAGNUM DOUBLE HUNG REPLACEMENT SYSTEM (PANNING)

PARTS



9.802011−04−25 11708422
Marvin Parts Manual

ORDERING REPLACEMENT SCREENS FOR MAGNUM DOUBLE HUNG REPLACEMENT
SYSTEM (PANNING)

Screens are available as full or half screen and are standard with aluminum surround and charcoal colored
fiberglass 18 x 16 screen mesh.  Aluminum mesh is available as an option in black, charcoal, bright
aluminum or bright bronze.  Determine the outside measurement of the existing screen.  Surrounds are
available in bronze, white and pebble gray.

When ordering replacement screen specify:
1. size; − If there is no existing screen from which to obtain the OM of the screen,

determine the size of the screen by using the conversion chart below.  The
daylight opening is the measurement of the visible glass.

2. color;
3. mesh type (if other than standard).

Magnum Double Hung 
Replacement System (Panning)

Full Screen
Daylight Opening to OM of Full Screen

Daylight Width + 4� = OM Width of Screen 
Daylight Height x 2 + 7� = OM Height of Screen

Half Screen
Daylight Opening to OM of Half Screen

Daylight Width + 4� = OM Width of Half Screen 
Daylight Height + 4 3/4� = OM Height of Half Screen

(PANNING) SINGLE HUNG SCREEN PARTS

ILLUSTRATION
NOT TO SCALE

DESCRIPTION COLOR PART NO.

Half Screen Nosing
A553

168� (4267)

SW
BZ
PB
EG

18806899
18539360
18539340
18539370

Screen Stand Off
M524
Nylon
 Includes:
1 − Screen stand off
1 − SS #8x3/8� Phillips panhead screw

02010230

Leaf Spring
M0104 11868835

Finger Pull, Clear
V254 11860350

MAGNUM DOUBLE HUNG REPLACEMENT SYSTEM (PANNING)

SCREENS AND SCREEN PARTS




